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Others

1. 
 is a right triangle right-angled at 
 .

Prove that 

Watch Video Solution

ABC CandAC = √3BC

∠ABC = 600.

2. If 
 be the area of a right triangle and 
 one of the sides

containing the right angle, prove that the length of
 the altitude

A b

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_3BtD8ZnVI6KS
https://dl.doubtnut.com/l/_pGf4HUivxIDq


on the hypotenuse is 

Watch Video Solution

2AB

√b4 + 4A2

3. In an equilateral triangle 
 if 
 then 
 =
 (a)


(b) 
(c) 
(d) 

Watch Video Solution

ABC AD ⊥ BC, AD2

CD2 2CD2 3CD2 4CD2

4. If a perpendicular is drawn from the vertex containing the right

angle
of a right triangle to the hypotenuse then prove that the

triangle on each
 side of the perpendicular are similar to each

other and to the original
 triangle. Also, prove that the square of

the perpendicular is equal to the
 product of the lengths of the

two parts of the hypotenuse.

Watch Video Solution

https://dl.doubtnut.com/l/_pGf4HUivxIDq
https://dl.doubtnut.com/l/_kg5IufhDDgfF
https://dl.doubtnut.com/l/_xxeyp8yFr2m7


5. Prove that the line segments joining the mid-points of the sides

of a
 triangle from four triangles, each of which is similar to the

original
triangle.

Watch Video Solution

6. If a perpendicular is drawn from the vertex containing the right

angle
of a right triangle to the hypotenuse then prove that the

triangle on each
 side of the perpendicular are similar to each

other and to the original
 triangle. Also, prove that the square of

the perpendicular is equal to the
 product of the lengths of the

two parts of the hypotenuse.

Watch Video Solution

https://dl.doubtnut.com/l/_xxeyp8yFr2m7
https://dl.doubtnut.com/l/_I4yaXwseoPQy
https://dl.doubtnut.com/l/_wXw6spmt4oMw


7. In a right triangle 
 right-angled at 
 if 
 are

points on the sides 
 respectively, then
 (a)


 (b)


 (c)

(d)

Watch Video Solution

ABC B, PandQ

ABandAC

AQ2 + CP 2 = 2(AC 2 + PQ2)

2(AQ2 + CP 2) = AC 2 + PQ2 AQ2 + CP 2 = AC 2 + PQ2

AQ + CP = (AC + PQ).
1

2

8. The diagonal 
 of a parallelogram 
 intersects the

segment 
at the point 
where E is any point on the side 

. Prove that 

Watch Video Solution

BD ABCD

AE F , BC

DF ⋅ EF = FB ⋅ FA.

9. ABC is a triangle in which  is a point on AC

such that .Prove that .

AB = AC and D

BC 2 = AC × CD BD = BC

https://dl.doubtnut.com/l/_ETb6KCyv667z
https://dl.doubtnut.com/l/_f2skLWRUBa5W
https://dl.doubtnut.com/l/_qnTDR3WhFTWT


Watch Video Solution

10. Two poles of height a metres and 
metres are 
metres apart.

Prove that the height of the point of intersection of the lines

joining the top of each pole to the foot of the opposite pole is

given by 
metres.

Watch Video Solution

b p

ab

a + b

11. In a triangle 
 , let P and Q
 be points on AB and AC

respectively such that 
 . Prove that the median 

bisects .

Watch Video Solution

ABC

PQ ∣ ∣ BC AD

PQ

https://dl.doubtnut.com/l/_qnTDR3WhFTWT
https://dl.doubtnut.com/l/_OnSzizJYRuH2
https://dl.doubtnut.com/l/_1FXFGTJvSMHq


12. 
is an isosceles triangle with 
and 
is a point

on 
such that .
Prove that .

Watch Video Solution

ABC AB = AC D

AC BC 2 = ACXCD BD = BC

13. If 
 is quadrilateral and 
are the mid-points of 


respectively, prove that 
+ 
+ 
=4

Watch Video Solution

ABCD E and F

AC and BD
→
A B +

→
A D

→
C B

→
C D

→
E F .

14. Through the mid-point 
 of the side 
 of a parallelogram 


 , the line 
 is drawn intersecting 
 at 

produced at 
. Prove that 

Watch Video Solution

M CD

ABCD BM AC LandAD

E EL = 2BL.

https://dl.doubtnut.com/l/_9TjJh2y9hT6w
https://dl.doubtnut.com/l/_b5pcBfbSVKxo
https://dl.doubtnut.com/l/_EuzuNK99kesK


15. In a 
 and 
 are points on sides 

respectively such that . If 
 show that 

.

Watch Video Solution

ABC, D E ABandAC

BD = CE ∠B = ∠C,

DE ∣ ∣ BC

16. Let 
 be a triangle and 
 be two points on side 


such that .
 If 
and 
 Then

prove that .

Watch Video Solution

ABC D and E

AB AD = BE DP ∣ ∣ BC EQ ∣ ∣ AC,

PQ ∣ ∣ AB

17. The side 
 of a triangle 
 is bisected at 
 is any

point in 
 produced meet 
 in 


respectively and 
is produced to 
so that 
is the

BC ABC D; O

AD. BO and CO AC and AB

E and F AD X D

https://dl.doubtnut.com/l/_dOhGdNZjUJDk
https://dl.doubtnut.com/l/_x1ltfKS5HS6d
https://dl.doubtnut.com/l/_e7vFAfmCBYIJ


mid-point of .
Prove that 
and show that

.

Watch Video Solution

OX AO :AX = AF :AB

FE ∣ ∣ BC

18. In Figure, 
 is a triangle in which 
 Point 


are points on the sides 
respectively such

that 
 Show that the points 
 are

concyclic.

Watch Video Solution

ABC AB = AC.

D and E AB and AC

AD = AE. B, C, E and D

19. The bisector of interior  meets BC and D and

the bisector of exterior  meets BC produced in E. prove that

Watch Video Solution

∠Aof △ ABC

∠A

=
BD

BE

CD

CE

https://dl.doubtnut.com/l/_e7vFAfmCBYIJ
https://dl.doubtnut.com/l/_RVu9SiyjWWvC
https://dl.doubtnut.com/l/_srb3PwJPAQXk


20. In three line segments 
 point 

respectively are so chosen that 
 but

neither of 
 nor of 
 are collinear. Show that 

.

Watch Video Solution

OA, OB and OC, L, M, N

LM||AB and MN||BC

L, M, N A, B, C

LN ∣ ∣ AC

21. 
 is any point inside a triangle 
 . The bisector of 


and 
 meet the sides 
 and 
 in

point 
 respectively. Show that


Watch Video Solution

O ABC

∠AOB, ∠BOC ∠COA AB, BC CA

D, E and F

AD ⋅ BE ⋅ CF = DB ⋅ EC ⋅ FA

https://dl.doubtnut.com/l/_srb3PwJPAQXk
https://dl.doubtnut.com/l/_I343KXGmHHu9
https://dl.doubtnut.com/l/_NJKxYLNZ8Rfp


22. ABCD
is a quadrilateral in which AB=AD
. The bisector of   BAC

and CAD
 intersect the sides BC and  CD
 at the points E  and  F

respectively. Prove that EF||BD.

Watch Video Solution

23. In 
 is the mid-point of 
 is the

bisector of the 
 is drawn parallel to 
 cutting 


in 
. Prove that 
is a right angle.

Watch Video Solution

△ ABC, D BC and ED

∠ADB and EF BC

AC F ∠EDF

24. 
 is a median of 
 . The bisector of 
 and 


meet AB and AC
in E and F
respectively. Prove that EF||BC

Watch Video Solution

AD ΔABC ∠ADB

∠ADC

https://dl.doubtnut.com/l/_L63oiJ5Scwn4
https://dl.doubtnut.com/l/_PDzD7Wu8A8xc
https://dl.doubtnut.com/l/_2O5o68KUOhvZ


25. In Figure, 
 is a right triangle right angled at 
 and

points 
trisect 
. Prove that 

Watch Video Solution

ABC B

DandE BC 8AE2 = 3AC 2 + 5AD2.

26. In a triangle 
 the angles at 
 are acute. If 


 be drawn perpendiculars on 

respectively, prove that 

Watch Video Solution

ABC, B and C

BE and CF AC and AB

BC 2 = AB ⋅ BF + AC ⋅ CE.

27. Prove that in any triangle the sum of squares of any two sides

is equal to twice the square of half the third side together with

twice the square of the median.

Watch Video Solution

https://dl.doubtnut.com/l/_pQGEZcQDVXxY
https://dl.doubtnut.com/l/_wTpyDRi32SQ9
https://dl.doubtnut.com/l/_c3veCAtRaam7


28. AD
is an altitude of an equilateral triangle ABC.
On AD
as base,

another equilateral triangle ADE
is constructed. Prove that Area (

triangle ADE
): 
Area (
triangle ABC
)=3:4.

Watch Video Solution

29. A ladder 15 m long reaches
a window which is 9 m above the

ground on one side of a street. Keeping its
 foot at the some

point, the ladder is turned to other side of the street to
 reach a

window 12 m high. Find the width of the street.

Watch Video Solution

30. Prove that three times the sum of the squares of the sides of

a
 triangle is equal to four times the sum of the squares of the

medians of the
triangle.

https://dl.doubtnut.com/l/_06ymBnjfAwlX
https://dl.doubtnut.com/l/_WcF43PNIDztO
https://dl.doubtnut.com/l/_cUdACoeiId11


Watch Video Solution

31. In Figure, 
are points on sides 
and 
respectively of


 such that .
 Show that 

.

Watch Video Solution

D, E AB AC

△ ABC, ar(BCE) = ar(BCD)

DE ∣ ∣ BC

32. In the trapezium ABCD,AC and BD intersect at O and also

AB=2CD
If the area of 
find the area of 

Watch Video Solution

AOB = 84cm2, COD.

33. ABC
is an isosceles triangle right-angled at B.
 Similar triangles

ACD
 and ABE
 are constructed on side AC  and  AB.
 Find the ratio

between the areas of triangle ABE and triangle ACD.

https://dl.doubtnut.com/l/_cUdACoeiId11
https://dl.doubtnut.com/l/_OhGJaexDsjMS
https://dl.doubtnut.com/l/_apodgPK274lU
https://dl.doubtnut.com/l/_PlZ0qeg9yXgu


Watch Video Solution

34. In Figure, 
 Find 

Watch Video Solution

DE ∣ ∣ BC and AD :DB = 4: 5.

.
Area(DEF )

Area(CFB)

35. ABC is a right triangle right-angled at B. Let D and E be any

points on AB and BC respectively. Prove that

Watch Video Solution

AE2 + CD2 = AC 2 + DE2

36. P and Q
are the mid-points of the CA and CD
respectively of a

triangle ABC,  
 right angled at C.
 Prove that:

https://dl.doubtnut.com/l/_PlZ0qeg9yXgu
https://dl.doubtnut.com/l/_rYvZSKXtfmQK
https://dl.doubtnut.com/l/_UK8GHQuNseDw
https://dl.doubtnut.com/l/_jxOlPncQ6W8e


, , and

.

Watch Video Solution

4AQ2 = 4AC 2 +  BC 2 4BP 2 = 4BC 2 + AC 2

4(AQ2 +  BP 2) = 5AB2

37. A
girl of height 90 cm is walking away from the base of a lamp-

post at a speed
of 1.2 m/s. If the lamp is 3.6 m above the ground,

find the length of her
shadow after 4 seconds.

Watch Video Solution

38. If 
 is a right triangle right-angled at 
are the

mid-points of 
 respectively, then 

(A) 
(B) 
(C) 
(D) 

Watch Video Solution

ABC BandM, N

ABandBC 4(AN 2 + CM 2) =

4AC 2 5AC 2 AC 25

4
6AC 2

https://dl.doubtnut.com/l/_jxOlPncQ6W8e
https://dl.doubtnut.com/l/_YeqnzmNLjGkP
https://dl.doubtnut.com/l/_XMtnMytjxmPW
https://dl.doubtnut.com/l/_v2YtxIpcBLi0


39. Determine whether the triangle having sides


and 
is a right angled triangle.

Watch Video Solution

(a − 1)cm, 2√acm (a + 1)cm

40. If triangle 
 is similar to triangle 
 such that 


 and area of triangle 
 .

Determine the area of triangle 

Watch Video Solution

ABC DEF

BC = 3cm, EF = 4cm ABC = 54cm2

DEF .

41. The perimeters of two similar triangles are 30cm and 20cm

respectively.
 If one side of the first triangle is 12cm, determine the

corresponding side
of the second triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_v2YtxIpcBLi0
https://dl.doubtnut.com/l/_pCQA1QwMqlKT
https://dl.doubtnut.com/l/_rcQ6P1jk4YaQ
https://dl.doubtnut.com/l/_U2upyz6amPkb


42. Two triangles 
 , right angled at 

respectively, are drawn on the same base 
 and on the same

side of 
 . If 
 and 
 intersect at 
 prove that 

Watch Video Solution

BACandBDC AandD

BC

BC AC DB P ,

AP ⋅ PC = DP ⋅ PB.

43. ABC is a right angle triangle right angled at A. A circle is

inscribed in it the length of the two sidescontaining right angle

are 6 cm and 8 cm then the radius of the circle is

Watch Video Solution

44. In Figure, 
 is its bisector. If 
 ,

prove that 

Watch Video Solution

∠BAC = 900, AD DE ⊥ Ac

DE × (AB + AC) = AB × AC

https://dl.doubtnut.com/l/_U2upyz6amPkb
https://dl.doubtnut.com/l/_6OlM4S7KeYXB
https://dl.doubtnut.com/l/_cBQ4AC7FRASS


45. Prove that the line segments joints joining the mid-points of

the
adjacent sides of a quadrilateral from a parallelogram.

Watch Video Solution

46. In figure, 
is the mid-point of 
is the mid-point of 

, such that 
produced meets 
at  Prove that 

Watch Video Solution

P BC, , Q AP

BQ AC R. 3RA = CA

47. A vertical stick 12m long casts a shadow 8m long on the

ground. At the
 same time a tower casts the shadow 40m long

onthe ground. Determine the
height of the tower.

Watch Video Solution

https://dl.doubtnut.com/l/_cBQ4AC7FRASS
https://dl.doubtnut.com/l/_x46qbWXY1TOx
https://dl.doubtnut.com/l/_YNp29CaJptV6
https://dl.doubtnut.com/l/_YmTQ3TRFNFvI


48. In a quadrilateral 
 if bisectors of the 


 meet on the diagonal 
 , prove that the

bisectors of 
will meet on the diagonal 

Watch Video Solution

ABCD,

∠ABCand∠ADC AC

∠BADand∠BCD BD.

49. In 
 , the bisector of 
 meets 
 at .
 A line 


 meets 
 at 

respectively. Show that
 (i) 
 (ii) 

Watch Video Solution

ABC ∠B AC D

PQ ∣ ∣ AC AB, BC and BD P , Q and R

PR ⋅ BQ = QR ⋅ BP

AB ⋅ CQ = BC ⋅ AP

50. The bisectors of the angles B and C
of a triangle 
 , meet

the opposite sides in D and E
 respectively. If DE||BC ,
 prove that

the triangle is isosceles.

ABC

https://dl.doubtnut.com/l/_shkzi2Rae1sV
https://dl.doubtnut.com/l/_QM98bDzk7F1Z
https://dl.doubtnut.com/l/_wIIHzRTXJW0D


Watch Video Solution

51. In 
and the bisector of 
intersects 
at


Prove that 

Watch Video Solution

ABC, ∠B = 2∠C ∠B AC

D. =
BD

DA

BC

BA

52. In Figure, 
 if 


and 
 find the

value of 

Watch Video Solution

DE ∣ ∣ BC,

AD = x, DB = x − 2, AE = x + 2 EC = x − 1,

x.

53. Lex X by any point on the side BC of a triangle ABC. If XM, XN

are
 drawn parallel to BA and CA meeting CA, BA in M, N

https://dl.doubtnut.com/l/_wIIHzRTXJW0D
https://dl.doubtnut.com/l/_bq7axA5joZiT
https://dl.doubtnut.com/l/_42ndDa5lS0HG
https://dl.doubtnut.com/l/_ZCQ5Ndv0l7qS


respectively; MN meets BC
produced in T, prove that 

x 

Watch Video Solution

TX2 = TB

TC

54. In Figure 
 is parallel to 
 if 
 and 


Find KQ.

Watch Video Solution

PQ MN. = 4/13
KP

PM

KN = 20. 4cm.

55. In Figure DE||BC
and CD||EF.
Prove that .

Watch Video Solution

AD2 = AB ⋅ AF

56. 
are respectively the points on the side 
of

a 
 such that 

DandE ABandAC

ABC AB = 5. 6cm, AD = 1. 4cm, AC = 7. 2cm

https://dl.doubtnut.com/l/_ZCQ5Ndv0l7qS
https://dl.doubtnut.com/l/_wBmaQMlVosAZ
https://dl.doubtnut.com/l/_BcN1mzu2600H
https://dl.doubtnut.com/l/_zsOkacQZIooC


and 
show that 

Watch Video Solution

AE = 1. 8cm, DE ∣ ∣ BC.

57. ABCD is a parallelogram. P is a point on the side BC DP when

produced
 meets AB produced at L. Prove that
 
 (ii) 

Watch Video Solution

=
DP

PL

DC

BL

=
DL

DP

AL

DC

58. In Figure 
and 
Prove that 

Watch Video Solution

DEAC DCap. =
BE

EC

BC

CP

59. Prove that the area of equilateral triangle described on the

side of a square is half the area of the equilateral triangle

https://dl.doubtnut.com/l/_zsOkacQZIooC
https://dl.doubtnut.com/l/_Dpp14h4HaArS
https://dl.doubtnut.com/l/_QjxlumggU6Ow
https://dl.doubtnut.com/l/_lDkZTklNgfFQ


described on its diagonal.

Watch Video Solution

60. Equilateral triangles are drawn on the sides of a right triangle.

Show
that the area of the triangle on the hypotenuse is equal to

the sum of the
areas of triangles on the other two sides.

Watch Video Solution

61. Two triangle ABC and 
 lie on the same side of the base 


 . From a point 
 on BC, PQ||AB
 and PR||BD
 are drawn. They

meet 
in 
and 
in 
respectively. Prove that QR||AD`.

Watch Video Solution

DBC

BC P

AC Q DC R

https://dl.doubtnut.com/l/_lDkZTklNgfFQ
https://dl.doubtnut.com/l/_nohyGlDYqPKr
https://dl.doubtnut.com/l/_5CuN8updQpQs


62. 
 is a quadrilateral; 
 are the points of

trisection of side AB ,BC ,CD and DA
respectively and are adjacent

to A and C
; prove that 
is parallelogram.

Watch Video Solution

ABCD P , Q, RandS

PQRS

63. 
is a parallelogram and 
is a straight line meeting


 at 
 produced at 
 prove that the rectangle

obtained by 
 is equal to the rectangle contained by 

Watch Video Solution

ABCD APQ

BC PandDC Q.

BPandDQ

ABandBC.

64. ABCD is a
quadrilateral in which P, Q, R and S are mid-points of

the sides AB, BC, CD
and DA. AC is a diagonal. Show that :
(i)   


and 
(ii) 
(iii)
PQRS is a parallelogram

SR ∣∣

AC SR = AC
1

2
PQ = SR

https://dl.doubtnut.com/l/_NtTXpKiuL8Id
https://dl.doubtnut.com/l/_86k6orY55QSQ
https://dl.doubtnut.com/l/_S3ZBYhofU95U


Watch Video Solution

65. Through the mid-point 
of the side 
 of a parallelogram 


 , the line 
 is drawn intersecting 
 at 

produced at 
. Prove that 

Watch Video Solution

M CD

ABCD BM AC LandAD

E EL = 2BL.

66. D
is the mid-point of side BC
of a triangle ABC.AD
is bisected at

the point E  and  BE
 produced cuts AC
 at the point X.
 Prove that

BE:EX=3:1.

Watch Video Solution

67. Fill in the
blanks using the correct word given in brackets:
 (a)

All circles
 are ................... (congruent, similar)
 (b) All squares
 are

https://dl.doubtnut.com/l/_S3ZBYhofU95U
https://dl.doubtnut.com/l/_irtb5mPBm3HB
https://dl.doubtnut.com/l/_WxIlJd2tRHXK
https://dl.doubtnut.com/l/_ug61VkkK4Ppr


................... (similar, congruent)
(c) All
....................... triangles are similar

(isosceles, equilaterals):

Watch Video Solution

68. Fill in the
blanks using the correct word given in brackets:
Two

triangles are similar, if their corresponding angles are ......

(proportional, equal)
 Two
 triangles are similar, if their

corresponding sides are .......
 (proportional, equal)
 (iii) Two

polygons of the same number of sides are similar, if (a) their

corresponding
 angles are and (b) their corresponding sides are

........ (equal,
proportional).

Watch Video Solution

69. Write the
 truth value (T/F) of each of the following

statements:(1)
 Any two
 similar figures are congruent.(2)
 Any two

https://dl.doubtnut.com/l/_ug61VkkK4Ppr
https://dl.doubtnut.com/l/_LABtoInKWDBR
https://dl.doubtnut.com/l/_26fKgT8hthKc


congruent figures are similar.
(3) Two
 polygons are similar, if their

corresponding sides are proportional.

Watch Video Solution

70. Write the
 truth value (T/F) of each of the following

statements:
 (1)Two
 polygons are similar if their corresponding

angles are proportional.
 (2)Two
 triangles are similar if their

corresponding sides are proportional.
 (3) Two triangles
 are

similar if their corresponding angles are proportional.

Watch Video Solution

71. In a given 
and 
If 

, find 
.

Watch Video Solution

△ ABC, DE ∣ ∣ BC = .
AD

DB

3

5
AC = 5. 6

AE

https://dl.doubtnut.com/l/_26fKgT8hthKc
https://dl.doubtnut.com/l/_tHkTXGzDAWIU
https://dl.doubtnut.com/l/_dePem7OVbAuZ


72. In Figure, 
 If 


and 
, find

the
value of 
.

Watch Video Solution

LM ∣ ∣ AB

AL = x − 3,   AC = 2x,   BM = x − 2 BC = 2x + 3

x

73. In Fig. if 
. Find 

Watch Video Solution

ST ∣ ∣ QR PS

74. In Fig.
 (i) and (ii), 
 . Find 
 in (i) and 
 in (ii)

(FIGURE)

Watch Video Solution

PQ ∣ ∣ BC QC AQ

https://dl.doubtnut.com/l/_dePem7OVbAuZ
https://dl.doubtnut.com/l/_41NXt64d34QS
https://dl.doubtnut.com/l/_TjoSpF5hFqmB
https://dl.doubtnut.com/l/_i42fXrj3p1CS


75. In Fig. if 
Prove that 
. (FIGURE)

Watch Video Solution

EF ||DC||AB. =
AE

ED

BF

FC

76. In Fig. if 
Prove that 
. (FIGURE)

Watch Video Solution

EF ||DC||AB. =
AE

ED

BF

FC

77. In Fig. if 
 and 
 . Prove
 that (i) 


(ii) 
.

Watch Video Solution

PQ ∣ ∣ BC PR ∣ ∣ CD

=
AR

AD

AQ

AB
=

QB

AQ

DR

AR

78. Any point 
inside 
is joined
to its vertices. From a point 


in 
is drawn
parallel to 
meeting 
at 
and 

X DEF

P DX,  PQ DE XE Q QR

https://dl.doubtnut.com/l/_GbTds2xcxBCE
https://dl.doubtnut.com/l/_0bgddiaPsj6O
https://dl.doubtnut.com/l/_iDX1q8l0Wbq0
https://dl.doubtnut.com/l/_1pHIzc3Itl6U


is drawn
 parallel to 
 meeting 
 in 
 . Prove
 that 


.

Watch Video Solution

EF XF R

PR ∣ ∣ DF

79. In Fig.
 4.31, if 
and 
 , prove
that 


is
isosceles. (FIGURE)

Watch Video Solution

=
AD

DC

BE

EC
∠CDE = ∠CED

CAB

80. In Fig.
 4.32, 
 and 
 . Prove
 that 


. (FIGURE)

Watch Video Solution

DE ∣ ∣ AQ DF ∣ ∣ AR

EF ∣ ∣ QR

https://dl.doubtnut.com/l/_1pHIzc3Itl6U
https://dl.doubtnut.com/l/_pVj4STBx8tdc
https://dl.doubtnut.com/l/_x27o5K1JUyIa


81. In Fig.
 4.33, 
 and 
 . Prove
 that 


is an
isosceles triangle. (FIGURE)

Watch Video Solution

=
PS

SQ

PT

TR
∠PST = ∠PRQ

PQR

82. In Fig.
 4.34, 
 and 
 are points
 on 
 and 

respectively
such that 
 and 
 . Show that
 
 .

(FIGURE)

Watch Video Solution

A,  B C OP ,  OQ OR

ABPQ BCQR ACPR

83. In a 
 , 
 and 
 are points
 on the sides 
 and 

respectively
 such that 
 If 
 , 

and 
, find 
.

Watch Video Solution

ABC D E AB AC

DE ∣ ∣ BC AD = 6 cm DB = 9 cm

AE = 8 cm AC

https://dl.doubtnut.com/l/_95LPsqCvzFOm
https://dl.doubtnut.com/l/_lN9VYOkF9lq2
https://dl.doubtnut.com/l/_qa0bnrUBVWAm


84. In a 
 , 
 and 
 are points
 on the sides 
 and 

respectively
 such that 
 If 
 , 
 , 


, and 
, find 
.

Watch Video Solution

ABC D E AB AC

DE/BC AD = 4 AE = 8

DB = x − 4 EC = 3x − 19 x

85. In a 
 , 
 and 
 are points
 on the sides 
 and 

respectively
such that 
 If 
 , 
and 


, find 
.
.

Watch Video Solution

ABC D E AB AC

DE/BC AD = 2 cm AB = 6 cm

AC = 9 cm AE

86. In a 
 , 
 and 
 are points
 on the sides 
 and 

respectively
 such that 
 If 


 and 


, find the
value of 
.
 .

ABC D E AB AC

DEBC

AD = 8x − 7,   DB = 5x − 3,   AE = 4x − 3

EC = (3x − 1) x

https://dl.doubtnut.com/l/_fLJRulRL4OX8
https://dl.doubtnut.com/l/_hU5HHa4VJU82
https://dl.doubtnut.com/l/_ihrql8z7f80b


Watch Video Solution

87. In a 
 are points
 on the sides 
 and 

respectively.
For each of the following cases show that 
 :



.

Watch Video Solution

ABC,   D and E AB AC

DE/BC

AB = 12 cm,   AD = 8 cm,   AE = 12 cm and AC = 18 cm

88. In a 
 are points
 on the sides 
 and 

respectively.
For each of the following cases show that 
 :


.

Watch Video Solution

ABC,   D and E AB AC

DE/BC

AB = 10. 8cm,   BD = 4. 5 cm,   AC = 4. 8cm and AE = 2. 8cm

https://dl.doubtnut.com/l/_ihrql8z7f80b
https://dl.doubtnut.com/l/_OzTTMY5dF34e
https://dl.doubtnut.com/l/_biOflkEMjNh8


89. In a 
 , 
 and 
 are point
 on the sides 
 and 

respectively,
 such that 
 . If 
 , 
 , 


and 
, find 
and 
.

Watch Video Solution

ABC P Q AB AC

PQ/BC AP = 2. 4cm AQ = 2cm

QC = 3cm BC = 6cm AB PQ

90. In a 
 , 
 and 
 are points
 on 
 and 
 respectively

such that 
 . If 


 and 
 ,

find 
and 
.

Watch Video Solution

ABC D E AB AC

DE ∣ ∣ BC

AD = 2. 4cm,   AE = 3. 2cm,   DE = 2cm BC = 5cm

BD CE

91. In Fig.
state if 

Watch Video Solution

PQ ∣ ∣ EF

https://dl.doubtnut.com/l/_Z3nJGe4BwfEk
https://dl.doubtnut.com/l/_75iWzE1SLW5y
https://dl.doubtnut.com/l/_AFvkII429T4f


92. 
and 
are points
on the sides 
and 
respectively
of

a 
 . For each
 of the following cases, state whether 


 :





Watch Video Solution

M N PQ PR

PQR

MN ∣ ∣ QR

(i)PM = 4cm,   QM = 4. 5cm,   PN = 4cm,   NR = 4. 5cm

(ii)PQ = 1. 28cm,   PR = 2. 56cm,   PM = 0. 16cm,

PN = 0. 32cm

93. If 
and 
 are points
 on sides 
 and 
 respectively
 of a

triangle 
such that 
and 
 . Prove
that 


is
isosceles.

Watch Video Solution

D E AB AC

ABC DE ∣ ∣ BC BD = CE

ABC

https://dl.doubtnut.com/l/_FyjI5DhJ02xw
https://dl.doubtnut.com/l/_qJT6GF2ULk8S


94. In Fig.
 4.41, 
 is the
 bisector of 
 . If 
 , 


and 
, determine
 
. (FIGURE)

Watch Video Solution

AD ∠A BD = 4cm

DC = 3cm AB = 6cm AC

95. In Fig.
 4.42, 
 is the
 bisector of 
 . If 
 . 


and 
, find 
and 
. (FIGURE)

Watch Video Solution

AD ∠BAC AB = 10cm

AC = 14cm BC = 6cm BD DC

96. If the
diagonal 
of a
quadrilateral 
bisects
both 

and 
, show that
 
.

Watch Video Solution

BD ABCD ∠B

∠D =
AB

BC

AD

CD

https://dl.doubtnut.com/l/_RZfzxXR7Qi6E
https://dl.doubtnut.com/l/_iDrtCv9Vz2yk
https://dl.doubtnut.com/l/_gwlbOzj4xu73


97. If the
 bisector of an angle of a triangle bisects the opposite

side, prove that the
triangle is isosceles.

Watch Video Solution

98. In triangle 
 , if 
 is the
 bisector of 
 , prove
 that: 

Watch Video Solution

ABC AD ∠A

=
Area(ABD)

Area(ACD)

AB

AC

99. 
and 
 are
 respectively the bisectors of 
 and 
of 


 . 
 produced
 meets 
 at 
 . Show
 that:


(ii) 
 (iii) 
 (iv) 
 is the
 bisector of 


.

Watch Video Solution

BO CO ∠B ∠C

ABC AO BC P =
AB

BP

AO

OP

=
AC

CP

AO

OP
=

AB

AC

BP

PC
AP

∠BAC

https://dl.doubtnut.com/l/_UEvWTrRBUPti
https://dl.doubtnut.com/l/_s7AMPmQY3Oqx
https://dl.doubtnut.com/l/_mmC5ldSgoX5D


100. In a 
 , 
 is the
bisector of 
 , meeting
side 

at 
 .
 
 and 
 , find 


.
 
and 
find 
 .



, 
and 
, find 

.

Watch Video Solution

△ ABC AD ∠A BC

D (i)IfBD = 2. 5cm,   AB = 5cm AC = 4. 2cm

DC (ii)IfBD = 2cm,   AB = 5cm DC = 3cm, AC

(iii)IfAB = 3. 5cm AC = 4. 2cm DC = 2. 8cm BD

101. In a 
 , 
 is the
bisector of 
 , meeting
side 

at 
. 
, 
and 
, find 

and 
 
, 
and 
, find


 .
 
 , 
 and 
 , find 


.

Watch Video Solution

△ ABC AD ∠A BC

D (i)IfAB = 10cm AC = 14cm BC = 6cm BD

DC (ii)IfAC = 4. 2cm DC = 6cm BC = 10cm

AB (iii)IfAB = 5. 6cm AC = 6cm DC = 3cm

BC

https://dl.doubtnut.com/l/_llqBfmQNIwK3
https://dl.doubtnut.com/l/_SZftBH3tr4Xl
https://dl.doubtnut.com/l/_0H6fGzODVk9i


102. In a 
, 
is the
bisector of 
, meeting
side 
at 

.
If 
, 
and 
, find 
.
(ii) If 


, 
and 
, find 
and 
.

Watch Video Solution

ABC AD ∠A BC D

AD = 5. 6cm BC = 6cm BD = 3. 2cm AC

AB = 10cm AC = 6cm BC = 12cm BD DC

103. In Fig.
 4.57, 
 is the
 bisector of the exterior 

meeting 
 produced in
 
 . If 
 , 
 and 


, find 
. (FIGURE)

Watch Video Solution

AE ∠CAD

BC E AB = 10cm AC = 6cm

BC = 12cm CE

104. In Fig.
 4.58, 
 is a
 triangle such that 


. Find 
. (FIGURE)

Watch Video Solution

ABC

= ,   ∠B = 70o,   ∠C = 50o
AB

AC

BD

DC
∠BAD

https://dl.doubtnut.com/l/_0H6fGzODVk9i
https://dl.doubtnut.com/l/_fXypGpRUMDXA
https://dl.doubtnut.com/l/_VXjPry2IHNS8
https://dl.doubtnut.com/l/_26VqQvDEBolw


105. In 
(Figure),
 if 
, prove
that 
.

Watch Video Solution

△ ABC ∠1 = ∠2 =
AB

AC

BD

DC

106. 
 and 
 are the
 points on sides 
 and 

respectively
of 
such that 
bisects 
bisects 

and 
bisects 
. If 
and 

, determine
 
and 
.

Watch Video Solution

D,  E F BC,  CA AB

ABC AD ∠A,   BE ∠B

CF ∠C AB = 5cm,   BC = 8cm CA = 4cm

AF ,  CE BD

107. In Fig.
4.60, check whether 
is the
bisector of 
of 

in the following: (FIGURE)


and 

Watch Video Solution

AD ∠A ABC

AB = 5cm,   AC = 10cm,   BD = 1. 5cm CD = 3. 5cm

https://dl.doubtnut.com/l/_26VqQvDEBolw
https://dl.doubtnut.com/l/_KqGcKCzK4vtk
https://dl.doubtnut.com/l/_iY1uBDrnXNsE


108. In given figure, check whether AD is the bisector of ∠ A of △

ABC in each of the following:
(i) AB = 5 cm, AC = 10 cm, BD = 1.5 cm

and CD = 3.5 cm
(ii) AB = 4 cm, AC = 6 cm, BD = 1.6 cm and CD = 2.4

cm
(iii) AB = 8 cm, AC = 24 cm, BD = 6 cm and BC = 24 cm
(iv) AB = 6

cm, AC = 8 cm, BD = 1.5 cm and CD = 2 cm
(v) AB = 5 cm, AC = 12 cm,

BD = 2.5 cm and BC = 9 cm

Watch Video Solution

109. In Fig.
 , 
 bisects 
 and 


, determine


Watch Video Solution

AD ∠A,   AB = 12cm,   AC = 20cm

BD = 5cm CD

110. In Fig.
 
. Find the
value of 

Watch Video Solution

AB ∣ ∣ DC x

https://dl.doubtnut.com/l/_PyHZarSR28Um
https://dl.doubtnut.com/l/_AOQFUQYMgMXH
https://dl.doubtnut.com/l/_PJB3QHiFYAu6


111. In Fig.
 if 
, find the
value of 
.

Watch Video Solution

AB ∣ ∣ CD x

112. In Figure, if  find the value of .

Watch Video Solution

AB ∣ ∣ CD x

113. In Fig.
 
 . If 
 , 


and 
, find 
.

Watch Video Solution

AB ∣ ∣ CD OA = 3x − 19,   OB = x − 4

OC = x − 3 OD = 4 x

https://dl.doubtnut.com/l/_PJB3QHiFYAu6
https://dl.doubtnut.com/l/_qzwMqXO2qM1p
https://dl.doubtnut.com/l/_1MlICYQt0ONZ
https://dl.doubtnut.com/l/_04ZRy3cl0DpL


114. State
which pairs of triangles in Figure are similar. Write the

similarity
 criterion used by you for answering the question and

also write the pairs of
similar triangles in the symbolic form:

Watch Video Solution

115. In Fig.
4.87, find 
. (FIGURE)

Watch Video Solution

∠F

116. In Fig.
 4.88, 
 If 
 , 
 , 


, 
, find 
and 
. (FIGURE)

Watch Video Solution

ACB~APQ. BC = 8cm PQ = 4cm

BA = 6. 5cm AP = 2. 8cm CA AQ

https://dl.doubtnut.com/l/_nY0HhUmBASSD
https://dl.doubtnut.com/l/_vljg25QXfzaP
https://dl.doubtnut.com/l/_A8xD5KOhFVO3


117. In Fig.
 4.89, if 
 and 


 . Find 
 and 


. (FIGURE)

Watch Video Solution

EDC~EBA,   ∠BEC = 115o

∠EDC = 70o ∠DEC,   ∠DCE,   ∠EAB,   ∠AEB

∠EBA

118. In Fig.
4.90, if 
, prove
that 
. (FIGURE)

Watch Video Solution

POS~ROQ PSQR

119. In Fig.
4.90, if 
, prove
that 
. (FIGURE)

Watch Video Solution

PS ∣ ∣ QR POS~ROQ

https://dl.doubtnut.com/l/_TWmJSUTxhkXs
https://dl.doubtnut.com/l/_dSTSq0DEzcIj
https://dl.doubtnut.com/l/_tSPVmiAXu0ud


120. In Fig.
 4.91, 
 and 
 are
 perpendiculars to 
 . If 


, 
and 
. Find 
. (FIGURE)

Watch Video Solution

QA PB AB

AO = 10cm BO = 6cm PB = 9cm AQ

121. In Figure, 
 and 
 . If 
 , 


and 
find .

Watch Video Solution

∠CAB = 90 AD ⊥ BC AC = 75cm

AB = 1m BD = 1. 25m AD

122. The
perimeters of two similar triangles 
 and 
 are

respectively 36cm and 24cm. If 
, find 
.

Watch Video Solution

ABC PQR

PQ = 10cm AB

https://dl.doubtnut.com/l/_70RHDi2tAnwP
https://dl.doubtnut.com/l/_l107vThH92Sq
https://dl.doubtnut.com/l/_bGHpJhhGJGQ1


123. In Figure if 
 show that 
 . If 


, 
, 
and 
,

find .

Watch Video Solution

∠ADE = ∠B ADE~ABC

AD = 3. 8cm AE = 3. 6cm BE = 2. 1cm BC = 4. 2cm

DE

124. In Figure, 
and 
. Find the
value

of .

Watch Video Solution

= =
AO

OC

BO

OD

1

2
AB = 5cm

DC

125. In Fig.
 4.97, if 
 , then
 prove that 
 .

(FIGURE)

Watch Video Solution

∠A = ∠C AOB~COD

https://dl.doubtnut.com/l/_HUW4oYrcCrRf
https://dl.doubtnut.com/l/_qq2RhOdZTdSm
https://dl.doubtnut.com/l/_UvBUeoraCGDl
https://dl.doubtnut.com/l/_PG1JGSROpaRU


126. In Fig. if 
and 
. Prove
that 

Watch Video Solution

AB ⊥ BC DE ⊥ AC ABC~AED

127. In Fig.
 4.99, if 
 , prove
 that 
 .

(FIGURE)

Watch Video Solution

∠P = ∠RTS RPQ~RTS

128. In Fig.
 , if 
and 
. Prove
that 

.
(FIGURE)

Watch Video Solution

=
QT

PR

QR

QS
∠1 = ∠2 PQS~TQR

129. In Fig.
 4.101, 
 and 
 are two
 altitudes of 
 . Prove

that
 
(ii) 

AD CE ABC

AEF~CDF ABD~CBE

https://dl.doubtnut.com/l/_PG1JGSROpaRU
https://dl.doubtnut.com/l/_3fpXTsLD17Fq
https://dl.doubtnut.com/l/_gc9TA7ohZDwW
https://dl.doubtnut.com/l/_wqyAC2BJLUiy


Watch Video Solution

130. In Fig.
 4.102 (i) and (ii) , if 
and 
 
 lie on 

and 
 ) are
 respectively bisectors of 
 and 
 and 


 , prove
 that (FIGURE)
 
 (ii) 

(iii) 

Watch Video Solution

CD GH (D and H AB

FE ∠ACB ∠EGF

ABC~FEG DCA~HGF =
CD

GH

AC

FG

DCB~HGE

131. In Figure, 
and 
are
respectively the medians of 

and 
 . If 
 , prove
 that 




Watch Video Solution

CD GH ABC

EFG ABC~FEG (i)ADC~FHG

(ii) =
CD

GH

AB

FE
(iii)CDB~GHE

https://dl.doubtnut.com/l/_wqyAC2BJLUiy
https://dl.doubtnut.com/l/_fw5KWrh1yQBD
https://dl.doubtnut.com/l/_ymwTmHR3juRU


132. In Figure, if 
 and 
 , prove
 that




Watch Video Solution

BD ⊥ AC CE ⊥ AB

(i) △ AEC~ △ ADB (ii) =
CA

AB

CE

DB

133. 
 is a point
 on the side 
 of 
 such that 


 . Prove
 that 
 or, 


.

Watch Video Solution

D BC ABC

∠ADC = ∠BAC =
CA

CD

CB

CA

CA2 = CB × CD

134. In Fig.
 4.106, considering triangles 
 and 
 , prove

that 
(FIGURE)

Watch Video Solution

BEP CPD

BP × PD = EP × PC

https://dl.doubtnut.com/l/_R1a0pqWJ3rpK
https://dl.doubtnut.com/l/_675ThbAu0fmH
https://dl.doubtnut.com/l/_TEAtCNUQiW5t
https://dl.doubtnut.com/l/_HZCiBNZ3aTU4


135. 
 and 
 are points
 on sides 
 and 
 respectively
 of 


. If 
, 
, 
and 
,

show that
 
.

Watch Video Solution

P Q AB AC

ABC AP = 3cm PB = 6cm AQ = 5cm QC = 10cm

BC = 3 PQ

136. In Figure, express 
in terms of
 
and .

Watch Video Solution

x a,  b c

137. In Figure, 
and segment
 
 . Prove
that 


.

Watch Video Solution

∠BAC = 90. AD ⊥ BC

AD2 = BD × DC

https://dl.doubtnut.com/l/_HZCiBNZ3aTU4
https://dl.doubtnut.com/l/_UQ2ywXi22g7k
https://dl.doubtnut.com/l/_gcrKWqK1vAwU


138. In 
 , if 
 and 
 , prove

that 
.

Watch Video Solution

△ ABC AD ⊥ BC AD2 = BD × DC

∠BAC = 90.

139. In a 
and 
 are the
 altitudes. Prove that 

and 
are
similar. Is 
?

Watch Video Solution

ABC,   BD CE ADB

AEC CDB~BEC

140. In Figure, 
 is a
 trapezium with 
 . If 


is similar
to 
, prove
that 
.

Watch Video Solution

ABCD AB ∣ ∣ DC

△ AED △ BEC AD = BC

https://dl.doubtnut.com/l/_nijWdHP3Ma8I
https://dl.doubtnut.com/l/_RmjUXF1pKJqx
https://dl.doubtnut.com/l/_kSmiEY2779Ra


141. If E is a point on side AD produced of a parallelogram ABCD

and BE intersects CD at F , Prove that  .

Watch Video Solution

△ ABE~ △ CFB

142. In Figure, 
is a right
triangle right angled at 
and 
 is

the foot
 of the the perpendicular drawn from 
 on 
 . If 


and 
, prove
that: 

Watch Video Solution

ABC B D

B AC

DM ⊥ BC DN ⊥ AB (i)DM 2 = DN × MC

(ii)DN 2 = DM × AN

143. In Figure, 
and 
are
respectively perpendiculars to 

and 
 . Show
 that: 





AD BE BC

AC (i) △ ADC~ △ BEC

(ii)CA × CE = CB × CD (iii) △ ABC~ △ DEC

(iv)CD × AB = CA × DE

https://dl.doubtnut.com/l/_l14imwTLzl2u
https://dl.doubtnut.com/l/_fyRMevytFCF6
https://dl.doubtnut.com/l/_Sze4LB4NVyma


Watch Video Solution

144. In Fig.
 4.124, 
 is a point
 on side 
 produced of
 an

isosceles triangle 
 with 
 . If 
 and 


 , prove
 that (i) △ ABD∼ △ ECF
 (ii) 


. (FIGURE)

Watch Video Solution

E CB

ABC AB = AC AD ⊥ BC

EF ⊥ AC

AB × EF = AD × EC

145. In Fig.
 4.125, 
 and 
 . Prove
 that 


. (FIGURE)

Watch Video Solution

FEC ≅GBD ∠1 = ∠2

ADEABC

146. In Fig.
 4.126, 
 . Prove
 that 
 and 


.
(FIGURE)

=
OA

OC

OD

OB
∠A = ∠C

∠B = ∠D

https://dl.doubtnut.com/l/_Sze4LB4NVyma
https://dl.doubtnut.com/l/_dYucErofx1EI
https://dl.doubtnut.com/l/_Fd7In9S6sqHx
https://dl.doubtnut.com/l/_mjUwlgNWgxiZ


Watch Video Solution

147. In Figure, 
is a square
and 
. Prove that
(i)

A G F ~ D B G 
 (iii) D B G ~ E F C

Watch Video Solution

DEFG ∠BAC = 90

(ii)AGF~EFC

(iv)DE2 = BDxEC

148. In 
 is parallel
to base 
 , with 
on 
and 

on 
. If 
, find 
.

Watch Video Solution

ABC,   DE BC D AB E

AC =
AD

DB

2

3

BC

DE

149. In Figure, if 
 and 
 , prove
 that 

is a right
triangle.

W t h Vid S l ti

AD ⊥ BC =
BD

DA

DA

DC
ABC

https://dl.doubtnut.com/l/_mjUwlgNWgxiZ
https://dl.doubtnut.com/l/_MhVz4DlC7TIV
https://dl.doubtnut.com/l/_1djYL88MewFI
https://dl.doubtnut.com/l/_2TINotAxUcg8


Watch Video Solution

150. In Figure, if 
 , prove
 that 


.

Watch Video Solution

△ ABE ≅ △ ACD

△ ADE~ △ ABC

151. In Figure, 
 and 
 . Prove
 that 

Watch Video Solution

∠ACB = 90. CD ⊥ AB

=
CB2

CA2

BD

AD

152. In Figure, 
 . If 
 , 
 , 


and 
, find 
and 
.

Watch Video Solution

△ ACB~ △ APQ BC = 8cm PQ = 4cm

BA = 6. 5cm AP = 2. 8cm CA AQ

https://dl.doubtnut.com/l/_2TINotAxUcg8
https://dl.doubtnut.com/l/_rzPffBs3AmoQ
https://dl.doubtnut.com/l/_FUtf2WTaoonH
https://dl.doubtnut.com/l/_R3iS3I8Uqjop
https://dl.doubtnut.com/l/_w9vdMAdJVOGO


153. A vertical
 stick 10 cm long casts a shadow 8 cm long. At the

same time a tower casts a
 shadow 30m long. Determine the

height of the tower.

Watch Video Solution

154. In Figure, 
. Find the
length of 
.

Watch Video Solution

AB ∣ ∣ QR PB

155. In Fig.
4.138, 
. Find the
length of 
.

Watch Video Solution

XY ∣ ∣ BC XY

https://dl.doubtnut.com/l/_w9vdMAdJVOGO
https://dl.doubtnut.com/l/_lWmaw6AZHCqu
https://dl.doubtnut.com/l/_LjanaObUqIlN


156. In a right
angled triangle with sides 
and 
and
hypotenuse 

, the
altitude drawn on the hypotenuse is 
. Prove
that 
.

Watch Video Solution

a b c

x ab = cx

157. In Figure, 
 and 
 . If 
 , 


, find 
.

Watch Video Solution

∠ABC = 90o BD ⊥ AC BD = 8cm

AD = 4cm CD

158. In Fig.
4.140, 
and 
. If 
,


and 
, find 
. (FIGURE)

Watch Video Solution

∠ABC = 90o BD ⊥ AC AB = 5. 7cm

BD = 3. 8 cm CD = 5. 4cm BC

https://dl.doubtnut.com/l/_QgqM0CRe7sb6
https://dl.doubtnut.com/l/_EvWKge5dHjDZ
https://dl.doubtnut.com/l/_2GEgSH4misU0


159. In Figure 
 such that AE = (1/4) AC
 If ,

then 'f i n d'
AD`.

Watch Video Solution

DE ∣ ∣ BC AB = 6cm

160. In Fig.
4.142, 
and 
are each
perpendicular to 

. Prove
that 
. (FIGURE)

Watch Video Solution

PA,  QB RC AC

+ =
1

x

1

z

1

y

161. In Fig.
4.143, 
 , prove
that 
 . Also,

find the value of 
. (FIGURE)

Watch Video Solution

∠A = ∠CED CAB ∼ CED

x

https://dl.doubtnut.com/l/_WBoTmSmTXwFn
https://dl.doubtnut.com/l/_5qCLdd4oRC5k
https://dl.doubtnut.com/l/_3wnlYk7BThLL


162. The
 perimeters of two similar triangles are 25cm and 15cm

respectively. If one
 side of first triangle is 9cm, what is the

corresponding side of the other
triangle?

Watch Video Solution

163. In 
 and 
 , it is
 being given that: 


 and 
 ; 
 , 


 and 
 . If 
 and 
 ,

find 
.

Watch Video Solution

ABC DEF

AB = 5cm,   BC = 4cm CA = 4. 2cm DE = 10cm

EF = 8cm FD = 8. 4cm AL ⊥ BC DM ⊥ EF

AL :DM

164. 
 and 
 are the points on the sides  and 

respectively of a triangle 
 such that: 

D E AB AC

ABC

https://dl.doubtnut.com/l/_MMrOVMZBxYQz
https://dl.doubtnut.com/l/_U1LhoqzR3B1h
https://dl.doubtnut.com/l/_48MZTpZtuxe5



 and 
 . Prove

that 
.

Watch Video Solution

AD = 8cm,   DB = 12cm,   AE = 6cm CE = 9cm

BC = 5/2 DE

165. In 
 , 
 and 
 are the
 perpendiculars from the

vertices 
 and 
 to 
 and 
 respectively.
 If 
 and 

intersect
at 
 , prove
 that: (i) triangle OMA is similar to triangle

OLC
(ii) 

Watch Video Solution

ABC AL CM

A C BC AB AL CM

O

=
OA

OC

OM

OL

166. In Fig.
 4.144, we have 
 . If 
 , 


 , 
 , 
 and 
 ,

calculate
the values of 
and 
. (FIGURE)

Watch Video Solution

AB ∥ CD ∥ EF AB = 6cm

CD = x cm EF = 10cm BD = 4cm DE = y cm

x y

https://dl.doubtnut.com/l/_48MZTpZtuxe5
https://dl.doubtnut.com/l/_wNCy1BtrTzWS
https://dl.doubtnut.com/l/_JxAiY5vfU4DP


167. In Fig.
4.145, if 
, 
and 
, prove

that 
. (FIGURE)

Watch Video Solution

AB ⊥ BC DC ⊥ BC DE ⊥ AC

CED ∼ ABC

168. In an isosceles triangle , where  the base 

is produced both the ways to  and  respectively, such that 

 . Prove that triangle APC is similar to triangle

BCQ.

Watch Video Solution

ABC CA = CB AB

P Q

AP × BQ = AC 2

169. Diagonals 
and 
of a
trapezium 
with 

intersect
each other at the point 
. Using
similarity criterion for

two triangles, show that 
.

AC BD ABCD AB, DC

O

=
OA

OC

OB

OD

https://dl.doubtnut.com/l/_JxAiY5vfU4DP
https://dl.doubtnut.com/l/_GL6SCbslJWou
https://dl.doubtnut.com/l/_QFp5YCIkiE2M
https://dl.doubtnut.com/l/_yXZhXTjGgtZA


Watch Video Solution

170. If 
and 
are two
right triangles, right angled at 

and 
 respectively
 such that 
 . Prove
 that

Watch Video Solution

ABC AMP B

M ∠MAP = ∠BAC

=
CA

PA

BC

MP

171. A vertical
 stick of length 6m casts a shadow 4m long on the

ground and at the same time
 a tower casts a shadow 32m long.

Find the height of the tower.

Watch Video Solution

172. In Fig.
 
is right
angled at 
and 
 . Prove
that 

 and hence find the length of AE and DE

ABC C DE ⊥ AB

ABC ∼ ADE

https://dl.doubtnut.com/l/_yXZhXTjGgtZA
https://dl.doubtnut.com/l/_3wwKcwDqg90X
https://dl.doubtnut.com/l/_h1Jo0obHYWI0
https://dl.doubtnut.com/l/_xgm7ACHWi7p0


Watch Video Solution

173. If 
such that 
and 
.

Find the
ratio of areas of 
and 
.

Watch Video Solution

ABC ∼ DEF AB = 1. 2cm DE = 1. 4cm

ABC DEF

174. In two
 similar triangles 
 and 
 , if their

corresponding altitudes 
and 
are in the
ratio 4:9, find the

ratio of the areas of triangle 
and triangle 
.

Watch Video Solution

ABC PQR

AD PS

ABC PQR

175. If 
 such that
 area of 
 is 
 and

the
area of 
is 
and 
cm. Find
the length

of 
.

ΔABC ∼ ΔDEF ΔABC 9 cm2

ΔDEF 16 cm2 BC = 2. 1

EF

https://dl.doubtnut.com/l/_xgm7ACHWi7p0
https://dl.doubtnut.com/l/_EYuNyu2bap6T
https://dl.doubtnut.com/l/_f60KgdTnyHz5
https://dl.doubtnut.com/l/_Ow1xOCz4mFLM


Watch Video Solution

176. In Fig.
 4.166, 
and 
are
perpendiculars to segment 

If 
 , 
 and Area 
 find the

area of 
. (FIGURE)

Watch Video Solution

PB QA AB.

PO = 5cm QO = 7cm POB = 150 cm2

QOA

177. Prove that
 the area of the equilateral triangle described on

the side of a square is
 half the area of the equilateral triangle

described on its diagonal.

Watch Video Solution

178. In Fig.
 4.170, 
 is a
 trapezium in which 
 and 


 . Determine
 the ratio of the areas of 
 and 

ABCD AB ∥ DC

AB = 2 DC AOB

https://dl.doubtnut.com/l/_Ow1xOCz4mFLM
https://dl.doubtnut.com/l/_OlEaklehQxIr
https://dl.doubtnut.com/l/_twIM9ZoKlBe9
https://dl.doubtnut.com/l/_Yr7Hozq6xIJ0



.
(FIGURE)

Watch Video Solution

COD

179. 
 are the
 mid-points of the sides 
 and 

respectively
 of a 
 . Determine
 the ratio of the areas of 


and 
.

Watch Video Solution

D,  E,  F BC,  CA AB

ΔABC

DEF ABC

180. 
and 
are points
on the sides 
and 
respectively
of

a 
such that 
and divides
 
into two
parts, equal

in area, find 
.

Watch Video Solution

D E AB AC

ABC DEBC ABC

BD

AB

https://dl.doubtnut.com/l/_Yr7Hozq6xIJ0
https://dl.doubtnut.com/l/_IXSf7ho6pd59
https://dl.doubtnut.com/l/_DUWv7nCnRO7X


181. Two
 isosceles triangles have equal vertical angles and their

areas are in the
 ratio 
 . Find the
 ratio of their

corresponding heights.

Watch Video Solution

16: 25

182. In Fig.
 4.176, 
 and 
 divides
 triangular region


into two
parts equal in area. Determine 

Watch Video Solution

XY ∣ ∣ AC XY

ABC .
AX

AB

183. Triangles 
 and 
 are
 similar.
 If area 


 , area 
 and 

find 
(ii) If
area 
, area 
and


find 
(iii) If 
and 
, find

the
ratio of the area of two triangles.

ABC DEF

(ABC) = 16 cm2 (DEF ) = 25 cm2 BC = 2. 3cm,

EF . (ABC) = 9 cm2 (DEF ) = 64 cm2

DE = 5. 1cm, AB. AC = 19cm DF = 8cm

https://dl.doubtnut.com/l/_m7dvV8Ibdxne
https://dl.doubtnut.com/l/_iCEkCJMmiWoE
https://dl.doubtnut.com/l/_Dj5yMuHUpwUR


Watch Video Solution

184. Triangles 
 and 
 are
 similar.
 If area 


 , area 
 and 

find 
(ii) If 
and 
 , find the
ratio of

the areas of 
and 
.

Watch Video Solution

ABC DEF

(ABC) = 36 cm2 (DEF ) = 64 cm2 DE = 6. 2cm,

AB. AB = 1. 2cm DE = 1. 4cm

ABC DEF

185. In Fig.
 4.177, 
 . If 
 



and 
find 
and 
 . Also,
find the

area 
. (FIGURE)

Watch Video Solution

ACB ∼ APQ BC = 10cm, PQ = 5cm,

BA = 6. 5cm AP = 2. 8cm CA AQ

(ACB) : area (APQ)

https://dl.doubtnut.com/l/_Dj5yMuHUpwUR
https://dl.doubtnut.com/l/_KswMNi6tJCYe
https://dl.doubtnut.com/l/_DlCKDXH5Sbor


186. The areas
 of two similar triangles are 
 and 

respectively.
 Find the ratio of their corresponding heights. What

is the ratio of their
corresponding medians?

Watch Video Solution

81 cm2 49 cm2

187. The areas
 of two similar triangles are 
 and 

respectively.
 If the longest side of the larger triangle is 26cm, find

the longest side of
the smaller triangle.

Watch Video Solution

169 cm2 121 cm2

188. Two
 isosceles triangles have equal vertical angles and their

areas are in the
 ratio 
 . Find the
 ratio of their

corresponding heights.

Watch Video Solution

36: 25

https://dl.doubtnut.com/l/_fu9WLSqw9AKm
https://dl.doubtnut.com/l/_0skB9et4XmoY
https://dl.doubtnut.com/l/_hWHTjl2D5U8S


189. The areas
 of two similar triangles are 
 and 

respectively.
 If the altitude of the first triangle is 2.4cm, find the

corresponding
altitude of the other.

Watch Video Solution

25 cm2 36 cm2

190. The
corresponding altitudes of two similar triangles are 6 cm

and 9 cm
respectively. Find the ratio of their areas.

Watch Video Solution

191. 
 is a
 triangle in which 


and 
. Find the

ratio of the areas of 
and 

h id l i

ABC

∠A = 90o,   AN ⊥ BC,   BC = 12cm AC = 5cm

ANC ABC.

https://dl.doubtnut.com/l/_hWHTjl2D5U8S
https://dl.doubtnut.com/l/_esSDjtp0fd1g
https://dl.doubtnut.com/l/_ALRv5qzO7dlT
https://dl.doubtnut.com/l/_zBksHe4UXlL6


Watch Video Solution

192. In Fig.
4.178, 
(FIGURE)
(i) If 
, 

and Area 
 , find the
 area of 
 .
 (ii) If 


 
 and Area 
 , find the

area of 
 .
 (iii) If 
 . Calculate
 the ratio of the

areas of 
and the
trapezium 
.

Watch Video Solution

DE ∥ BC DE = 4cm BC = 6cm

(ADE) = 16 cm2 ABC

DE = 4cm, BC = 8cm (ADE) = 25 cm2

ABC DE :BC = 3: 5

ADE BCED

193. In 
 and 
 are the
 mid-points of 
 and 

respectively.
Find the ratio of the areas of 
and 
.

Watch Video Solution

ABC,  D E AB AC

ADE ABC

https://dl.doubtnut.com/l/_zBksHe4UXlL6
https://dl.doubtnut.com/l/_Lo6rp3b1kNZ6
https://dl.doubtnut.com/l/_sORJIrULlxTm


194. In Figure, 
and 
are on the
same base 
 .

If 
and 
intersect
at 
, prove
that .

Watch Video Solution

△ ABC △ DBC BC

AD BC O =
Area (ABC)

Area (DBC)

AO

DO

195. 
 is a
 trapezium in which AB is parallel to CD
 . The

diagonals 
and 
intersect
at 
. Prove
that (i) 

(ii) If 
 , 
 , Find:
 
 (b) 

Watch Video Solution

ABCD

AC BD O AOB~COD

OA = 6cm OC = 8cm
Area (AOB)

Area (COD)
Area (AOD)

Area (COD)

196. In 
 , 
divides the
side 
such that 
 . 


is a point
in 
such that 
 . Find the
ratio of the areas

of 
and
trapezium 
.

ABC P AB AP :PB = 1: 2

Q AC PQBC

APQ BPQC

https://dl.doubtnut.com/l/_iSfYKPoU2eka
https://dl.doubtnut.com/l/_zJd3w9zo17jN
https://dl.doubtnut.com/l/_snnRvfzuKBbv


Watch Video Solution

197. The areas
 of two similar triangles are 
 and 

respectively.
 If the altitude of the bigger triangle is 5 cm, find the

corresponding
altitude of the other.

Watch Video Solution

100 cm2 49 cm2

198. The areas
 of two similar triangles are 
 and 

respectively.
 If the median of the first triangle is 12.1 cm, find the

corresponding median
of the other.

Watch Video Solution

121 cm2 64 cm2

199. If 
 such that 
 , area 


 and area 
 , determine

ΔABC ∼ ΔDEF AB = 5cm

(ΔABC) = 20 cm2 (ΔDEF ) = 45 cm2

https://dl.doubtnut.com/l/_snnRvfzuKBbv
https://dl.doubtnut.com/l/_C0GYwrNonSef
https://dl.doubtnut.com/l/_kZa0gnMp2br2
https://dl.doubtnut.com/l/_BzQf7AI68e6N



.

Watch Video Solution

DE

200. In 
 , 
 is a line
 segment intersecting 
 at 
 and 


at 
such that 
and 
divides 
 into two
parts

equal in area. Find 
.

Watch Video Solution

ABC PQ AB P

AC Q PQBC PQ ABC

BP

AB

201. The areas
of two similar triangles 
and 
are in the

ratio 
. If 
, find the
length of 
.

Watch Video Solution

ABC PQR

9: 16 BC = 4. 5cm QR

https://dl.doubtnut.com/l/_BzQf7AI68e6N
https://dl.doubtnut.com/l/_7fqd0690qdan
https://dl.doubtnut.com/l/_FU5CMeHk5tqy


202. 
 is a
triangle and 
 is a
 straight line meeting 
 in 


 and 
 in 
 . If 
 , 
 , 
 , 


 , prove
that area of 
is
one-sixteenth of the

area of 
.

Watch Video Solution

ABC PQ AB

P AC Q AP = 1cm PB = 3cm AQ = 1. 5cm

QC = 4. 5cm ΔAPQ

ΔABC

203. If 
 is a point
 on the side 
 of 
 such that 


and 
is a point
on 
such that 
 .

Find the
ratio of areas of 
and 
.

Watch Video Solution

D AB △ ABC

AD :DB = 3: 2 E BC DE ∣ ∣ AC

△ ABC △ BDE

204. In Figure, 
is an
obtuse triangle, obtuse angled at 
 . If 


, prove
that 
.

Watch Video Solution

ABC B

AD ⊥ CB AC 2 = AB2 + BC 2 + 2 BC × BD

https://dl.doubtnut.com/l/_tXElntWDWybS
https://dl.doubtnut.com/l/_vfzlc4PELOjQ
https://dl.doubtnut.com/l/_K4kwwVH70F9I


205. In Figure, 
 of 
 is an acute
 angle and 
 ,

prove
that 

Watch Video Solution

∠B ABC AD ⊥ BC

AC 2 = AB2 + BC 2 − 2 BC × BD

206. A right
triangle has hypotenuse of length 
and one
side

of length 
 . If 
 , find the
 length of the third side of

the triangle.

Watch Video Solution

p cm

q cm p − q = 1

207. The sides
 of certain triangles are given below. Determine

which of them are right
 triangles:
 (i) 
 , 
 and 


(ii) 
, 
and 
.

h id l i

a = 6cm b = 8cm

c = 10cm a = 5cm b = 8cm c = 11cm

https://dl.doubtnut.com/l/_K4kwwVH70F9I
https://dl.doubtnut.com/l/_vEXNNozLVOTe
https://dl.doubtnut.com/l/_oGwbeLociWSB
https://dl.doubtnut.com/l/_HTenm53bg9Ph


Watch Video Solution

208. A man goes
10m due east and then 24 m due north. Find the

distance from the starting
point.

Watch Video Solution

209. A ladder is
placed in such a way that its foot is at a distance

of 5m from a wall and its
 tip reaches a window 12 m above the

ground. Determine the length of the
ladder.

Watch Video Solution

210. A ladder
25m long reaches a window of a building 20m above

the ground. Determine the
distance of the foot of the ladder from

the building.

https://dl.doubtnut.com/l/_HTenm53bg9Ph
https://dl.doubtnut.com/l/_24kSEhl7K5CS
https://dl.doubtnut.com/l/_EinmFm8t0QPS
https://dl.doubtnut.com/l/_ZArjwLV02EIa


Watch Video Solution

211. The hypotenuse of a right triangle is 6 m more than the twice

of the shortest side. If the third side is 2 m less than the

hypotenuse, find the sides of the triangle.

Watch Video Solution

212. In Fig.
 4.192, 
 is a right
 triangle right-angled at 
 . 

and 
are the two
medians drawn from 
and 
respectively.
 If 


 and 
 , find the
 length of 
 .

(FIGURE)

Watch Video Solution

ABC B AD

CE A C

AC = 5cm AD = cm
3√5

2
CE

https://dl.doubtnut.com/l/_ZArjwLV02EIa
https://dl.doubtnut.com/l/_S5iWecVYSFAA
https://dl.doubtnut.com/l/_S5S9qO8UtDGg


213. The
 perpendicular 
 on the base
 
 of a triangle 

intersects 
 at 
 so that 
 . Prove
 that 


.

Watch Video Solution

AD BC ABC

BC D DB = 3CD

2 AB2 = 2 AC 2 + BC 2

214. 
 is a right
 triangle right-angled at 
 . Let 


 and let 
 be the
 length of

perpendicular from 
on 
, prove
that (i) 

Watch Video Solution

ABC C

BC = a,   CA = b,   AB = c p

C AB cp = ab

215. Prove that
 three times the square of any side of an

equilateral-triangle is equal to
 four times the square of the

altitude.

Watch Video Solution

https://dl.doubtnut.com/l/_ESHcD5T29HIJ
https://dl.doubtnut.com/l/_JSYdvoWXMwYE
https://dl.doubtnut.com/l/_htDVSPRo26C5


216. In an
 equilateral triangle with side 
 , prove
 that
 Altitude


(ii) Area 

Watch Video Solution

a

=
a√3

2
= a2√3

4

217. 
 is an
 isosceles right triangle right-angled at 
 . Prove

that 
.

Watch Video Solution

ABC C

AB2 = 2AC 2

218. In an
 isosceles triangle 
 with 
 , 
 is

perpendicular from 
 to the side
 
 . Prove
 that 

Watch Video Solution

ABC AB = AC BD

B AC

BD2 − CD2 = 2 CDAD

https://dl.doubtnut.com/l/_htDVSPRo26C5
https://dl.doubtnut.com/l/_8hPWClVHi8oJ
https://dl.doubtnut.com/l/_y4Hfj7FOg4ku
https://dl.doubtnut.com/l/_TZl5tyFaBP59


219. 
is a
triangle in which 
and 
 is any
point in 


. Prove
that 
.

Watch Video Solution

ABC AB = AC D

BC AB2 − AD2 = BDCD

220. In 
 , 
 is
 perpendicular to 
 . Prove
 that:



(ii) 

Watch Video Solution

ABC AD BC

AB2 + CD2 = AC 2 + BD2 AB2 − BD2 = AC 2 − CD2

221. From a
 point 
 in the
 interior of a 
 ,
 perpendiculars 


 and 
 are drawn
 to the sides 
 and 

respectively.
 Prove that: (i)

(ii) 

O ABC

OD,  OE OF BC,  CA AB

AF 2 + BD2 + CE2 = OA2 + OB2 + OC 2 − OD2 − OE2 − OF 2

AF 2 + BD2 + CE2 = AE2 + CD2 + BF 2

https://dl.doubtnut.com/l/_TZl5tyFaBP59
https://dl.doubtnut.com/l/_xxyr3oMiVkFA
https://dl.doubtnut.com/l/_FvBtQbP7NY1I
https://dl.doubtnut.com/l/_35aKoSCd6Dhh


Watch Video Solution

222. A point 
in the
interior of a rectangle 
is joined
with

each of the vertices 
 and 
 . Prove
 that 

Watch Video Solution

O ABCD

A,  B,  C D

OB2 + OD2 = OC 2 + OA2

223. 
 is a
 rhombus. Prove that 

Watch Video Solution

ABCD

AB2 + BC 2 + CD2 + DA2 = AC 2 + BD2

224. In a
 triangle 
 , 
 is the
 mid-point of 

and 
 . Prove
 that: (i) 

ABC,  AC > AB D BC

AE ⊥ BC

AB2 = AD2 − BC ⋅ DE + BC 21

4

https://dl.doubtnut.com/l/_35aKoSCd6Dhh
https://dl.doubtnut.com/l/_rAYBv38ad5Ha
https://dl.doubtnut.com/l/_eaRPuRfajSAT
https://dl.doubtnut.com/l/_lF25i39UZTrT


Watch Video Solution

225. In a
 triangle 
 , 
 is the
 mid-point of 

and 
 . Prove
 that: (i) 

 (ii) 

Watch Video Solution

ABC,  AC > AB D BC

AE ⊥ BC

AB2 = AD2 − BC. DE + BC 21

4

AB2 + AC 2 = 2 AD2 + BC 21

2

226. In an
equilateral triangle 
the side 
is
trisected at 

. Prove
that 

Watch Video Solution

ABC BC D

9 AD2 = 7 AB2

227. In a 
 and 
 Prove

that 
is a right
triangle.

△ ABC,   AD ⊥ BC AD2 = BD × CD.

ABC

https://dl.doubtnut.com/l/_lF25i39UZTrT
https://dl.doubtnut.com/l/_jf7xOYrcXW0V
https://dl.doubtnut.com/l/_cWWbrpWPp30J
https://dl.doubtnut.com/l/_kylY9Xgnmw6a


Watch Video Solution

228.  and  are points on the sides  and 
respectively of 

, right-angled at . Prove that .

Watch Video Solution

P Q CA CB

ABC C AQ2 + BP 2 = AB2 + PQ2

229. 
 is an
 isosceles triangle with 
 . If 


, prove
that 
is right
triangle.

Watch Video Solution

ABC AC = BC

AB2 = 2 AC 2 ABC

230. In 
and 
 . Prove
 that 

Watch Video Solution

PQR,   QM ⊥ PR PR2 − PQ2 = QR2

QM 2 = PM × MR

https://dl.doubtnut.com/l/_kylY9Xgnmw6a
https://dl.doubtnut.com/l/_VumpsBA1MvV7
https://dl.doubtnut.com/l/_GnBAi3mZBCtU
https://dl.doubtnut.com/l/_ggR7I0E9J519


231. Prove that the sum of the squares
 of the diagonals of

parallelogram is equal to the sum of the squares of its
sides.

Watch Video Solution

232. In a right
triangle 
right-angled
at 
and 
are the

points on the sides 
 and 
 respectively,
 which divide these

sides in the ratio 
. Prove
that 9AQ^2=9AC^2+4BC^2

Watch Video Solution

ABC C,  P Q

CA CB

2: 1

233. If the
 sides of a triangle are 3 cm, 4 cm and 6 cm long,

determine whether the
triangle is a right-angle triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_t5NGvr9GfBTJ
https://dl.doubtnut.com/l/_4GcuZbK3MNVv
https://dl.doubtnut.com/l/_I5d7dfk1N0pO
https://dl.doubtnut.com/l/_cZrnlE1op347


234. The sides
 of certain triangles are given below. Determine

which of them are right
 triangles.
 
 , 
 and 


(ii) 
, 
and 
(iii) 

, 
and 
(iv) 
, 
and 

Watch Video Solution

(i)a = 7cm b = 24cm

c = 25cm a = 9cm b = 16cm c = 18cm a = 1. 6cm

b = 3. 8cm c = 4cm a = 8cm b = 10cm c = 6cm

235. A man goes
15 metres due west and then 8 metres due north.

How far is he from the
starting point?

Watch Video Solution

236. A ladder
17m long reaches a window of a building 15m above

the ground. Find the
distance of the foot of the ladder from the

building.

Watch Video Solution

https://dl.doubtnut.com/l/_cZrnlE1op347
https://dl.doubtnut.com/l/_RGYDKc0vgmzM
https://dl.doubtnut.com/l/_zxo5w5HTIg6g


237. Two poles
of heights 6 m and 11 m stand on a plane ground. If

the distance between
their feet is 12m, find the distance between

their tops.

Watch Video Solution

238. In an
 isosceles triangle


. Calculate
the altitude

from 
on 
.

Watch Video Solution

ABC,  AB = AC = 25cm,   BC = 14cm

A BC

239. The foot of
 a ladder is 6m away from a wall and its top

reaches a window 8m above the
ground. If the ladder is shifted in

https://dl.doubtnut.com/l/_zxo5w5HTIg6g
https://dl.doubtnut.com/l/_yrlZWVlGLM6r
https://dl.doubtnut.com/l/_ovkfJlGswJt0
https://dl.doubtnut.com/l/_To8trcunkK5X


such a way that its foot is 8m away from
the wall, to what height

does its tip reach?

Watch Video Solution

240. Two poles
of height 9m and 14m stand on a plane ground. If

the distance between their
feet is 12m, find the distance between

their tops.

Watch Video Solution

241. Using
 Pythagoras theorem determine the length of 
 in

terms of
 
and 
shown in
Figure.

Watch Video Solution

AD

b c

https://dl.doubtnut.com/l/_To8trcunkK5X
https://dl.doubtnut.com/l/_C7CXbeHVDOik
https://dl.doubtnut.com/l/_NDIyqL4Rl4h0


242. A triangle
has sides 5cm, 12cm and 13cm. Find the length to

one decimal place, of the
perpendicular from the opposite vertex

to the side whose length is 13cm.

Watch Video Solution

243. 
 is a
 square. 
 is the
 mid-point of 
 
 is one

third of 
 . If the
 area of 
 , find the
 length of 


.

Watch Video Solution

ABCD F AB. BE

BC FBE = 108 cm2

AC

244. In an
isosceles triangle 
, if 
cm and the

altitude from 
on 
is 5 cm,
find 
.

Watch Video Solution

ABC AB = AC = 13

A BC BC

https://dl.doubtnut.com/l/_uMV2XlLkFseB
https://dl.doubtnut.com/l/_UJkQ7NpWC8Bg
https://dl.doubtnut.com/l/_wq7JAPl5enlf


245. In a 
 and 
 . Prove

that
 
(ii) Area 

Watch Video Solution

ABC,   AB = BC = CA = 2a AD ⊥ BC

AD = a√3 (ABC) = √3 a2

246. The lengths
 of the diagonals of a rhombus are 24cm and

10cm. Find each side of the
rhombus.

Watch Video Solution

247. Each side
of a rhombus is 10cm. If one of its diagonals is 16cm

find the length of the
other diagonal.

Watch Video Solution

https://dl.doubtnut.com/l/_uViIjlWTyqm4
https://dl.doubtnut.com/l/_LBIMIdIFvXMY
https://dl.doubtnut.com/l/_9TUv3FfjfkLV


248. In an acute angled triangle , express a median in term of its

sides.

Watch Video Solution

249. Calculate
the height of an equilateral triangle each of whose

sides measures 12cm.

Watch Video Solution

250. In
 right-angled triangle 
 in which 
 , if 
 is

the
mid-point of 
, prove
that 
.

Watch Video Solution

ABC ∠C = 90∘ D

BC AB2 = 4 AD2 − 3 AC 2

https://dl.doubtnut.com/l/_SSgqxkCn1uLm
https://dl.doubtnut.com/l/_GvKF430vXNmx
https://dl.doubtnut.com/l/_bskl9Z803bam


251. In Fig.
 4.220, 
 is the
mid-point of side 
and 
 .

If 
 and 


and 
 , prove
 that: (FIGURE)


(ii) 
(iii) 

Watch Video Solution

D BC AE ⊥ BC

BC = a,   AC = b,   AB = c,   ED = x,   AD = p

AE = p AE = h b2 = p2 + ax +
a2

4

c2 = p2 − ax +
a2

4
b2 + c2 = 2 p2 +

a2

2

252. In Fig.
 4.221, 
and segment
 
 , show that



(ii) 
(FIGURE)

Watch Video Solution

∠B < 90o AD ⊥ BC

b2 = h2 + a2 + x2 − 2 ax b2 = a2 + c2 − 2 ax

253. In 
 , 
 is obtuse, 
 and 
 . Prove

that:
 
 (ii) 

Watch Video Solution

ABC ∠A PB ⊥ AC QC ⊥ AB

AB × AQ = AC × AP

BC 2 = (AC × CP + AB × BQ)

https://dl.doubtnut.com/l/_DVdjbPO2XbDh
https://dl.doubtnut.com/l/_SXiTKI4DTm3s
https://dl.doubtnut.com/l/_GJYqod1SutUZ


Watch Video Solution

254. In a right 
 right-angled
 at 
 , if 
 is the
 mid-point of 


, prove
that 
.

Watch Video Solution

ABC C D

BC BC 2 = 4 (AD2 − AC 2)

255. In a
 quadrilateral 
 , 
 , 


, prove
that 

Watch Video Solution

ABCD ∠B = 90o

AD2 = AB2 + BC 2 + CD2 ∠ACD = 90o

256. In an
 equilateral 
 , 
 , prove
 that 

Watch Video Solution

ABC AD ⊥ BC

AD2 = 3 BD2

https://dl.doubtnut.com/l/_GJYqod1SutUZ
https://dl.doubtnut.com/l/_Sj9yThT9qFQc
https://dl.doubtnut.com/l/_KB2pAob87VeW
https://dl.doubtnut.com/l/_qS7c2keJ6yQZ
https://dl.doubtnut.com/l/_0GkDQdvtZ6xP


257. 
 is a right
 triangle right-angled at 
 and 
 .

Show
 that 
 (ii) 
 (iii) 


(iv) 

Watch Video Solution

ABD A AC ⊥ BD

AB2 = BC
.
BD AC 2 = BC

.
DC

AD2 = BD
.
CD =

AB2

AC 2

BD

DC

258. A guy wire
 attached to a vertical pole of height 18m is 24m

long and has a stake
attached to the other end. How far from the

base of the pole should the stake
be driven so that the wire will

be taut?

Watch Video Solution

259. An
aeroplane leaves an airport and flies due north at a speed

of 1000km/hr. At
 the same time, another aeroplane leaves the

https://dl.doubtnut.com/l/_0GkDQdvtZ6xP
https://dl.doubtnut.com/l/_ls9MJ84CSVnL
https://dl.doubtnut.com/l/_HzGmMtWVURhg


same airport and flies due west
at a speed of 1200km/hr. How far

apart will be the two planes after 
hours?

Watch Video Solution

1
1

2

260. In each of
 the figures [4.222 (i)-(iv)] given below, a line

segment is drawn parallel to
 one side of the triangle and the

lengths of certain line-segments are marked.
 Find the value of 

in each of
the following: (FIGURE)

Watch Video Solution

x

261. In 
 , points 
 and 
 are on 
 and 
 ,
 respectively

such that 
 , 
 , 
 and 


. Is 
?

Watch Video Solution

ABC P Q CA CB

CA = 16cm CP = 10cm CB = 30cm

CQ = 25cm PQ ∣ ∣ AB

https://dl.doubtnut.com/l/_HzGmMtWVURhg
https://dl.doubtnut.com/l/_2Hf1lM1E886E
https://dl.doubtnut.com/l/_3TknAjTQOUCf


262. In Figure, 
. Determine
 
and 
.

Watch Video Solution

DE ∣ ∣ CB AC AE

263. In Figure, given that 
 and


 . Determine
 the values of 
 in each

case.

Watch Video Solution

△ ABC~ △ PQR

   ABCD~   PQRS x,  y,  z

264. In 
 , 
 and 
 are points
 on sides 
 and 

respectively
 such that 
 . If 

and 
, determine
 
.

Watch Video Solution

ABC P Q AB AC

PQ ∣ ∣ BC AP = 4cm,   PB = 6cm

PQ = 3cm BC

https://dl.doubtnut.com/l/_EeKF0FX8AVev
https://dl.doubtnut.com/l/_bqStT0HftYNz
https://dl.doubtnut.com/l/_dZlfyH8TI6qW
https://dl.doubtnut.com/l/_H90waFQhldry


265. In each of
 the following figures, you find two triangles.

Indicate whether the triangles
are similar. Give reasons in support

of your answer.     (FIGURES)

Watch Video Solution

266. In 
 , 
 and 
 are points
 on sides 
 and 

respectively
 such that 
 and 
 . If 


and 
state
whether 
.

Watch Video Solution

△ PQR M N PQ PR

PM = 15cm NR = 8cm

PQ = 25cm PR = 20cm MN ∣ ∣ QR

267. In 
 , 
 and 
 are points
 on sides 
 and 

respectively
 such that 
 . If 
 , 

and 
, find 
.

Watch Video Solution

ABC P Q AB AC

PQ ∣ ∣ BC AP = 3cm PB = 5cm

AC = 8cm AQ

https://dl.doubtnut.com/l/_H90waFQhldry
https://dl.doubtnut.com/l/_UJseg2XksClr
https://dl.doubtnut.com/l/_dP44ihFHyNZa


268. In Figure, 
determine 
 in terms of


and 
.

Watch Video Solution

△ AMB~ △ CMD; MD

x,  y z

269. In 
 , the
 bisector of 
 intersects 
 in 
 . If 


, 
and 
, find 

Watch Video Solution

ABC ∠A BC D

AB = 18cm AC = 15cm BC = 22cm BD

270. In Figure, 
Name three
pairs of similar triangles with

proper correspondence; write similarties.
 Prove that

Watch Video Solution

l ∣ ∣ m

= =
AB

PQ

AC

PR

BC

RQ

https://dl.doubtnut.com/l/_dP44ihFHyNZa
https://dl.doubtnut.com/l/_Lj58UKG1916l
https://dl.doubtnut.com/l/_UwTaCeXUU7x4
https://dl.doubtnut.com/l/_K8x574IUO8ci


271. In Figure, 
 Prove
 that 

Watch Video Solution

AB ∣ ∣ DC (i) △ DMU~ △ BMV

(ii)DM × BV = BM × DU

272. 
is a trapezium
in which 
. 
and 
are points

on sides 
and 
such that 
 . If 
 , 

and 
, find 
.

Watch Video Solution

ABCD ABDC P Q

AD BC PQAB PD = 18 BQ = 35

QC = 15 AD

273. In 
 and 
 are points
 on sides 
 and 

respectively
 such that 
 . Prove
 that 


.

Watch Video Solution

ABC,  D E AB AC

AD × EC = AE × DB

DEBC

https://dl.doubtnut.com/l/_aLZxUc3b1YQ6
https://dl.doubtnut.com/l/_KYM1SonbznqN
https://dl.doubtnut.com/l/_CnNeaaMaLrV4


274. 
 is a
 trapezium having 
 . Prove
 that 
 , the

point
 of intersection of diagonals, divides the two diagonals in

the same ratio.
Also prove that 
, if 
.

Watch Video Solution

ABCD ABDC O

=
ar(OCD)

ar(OAB)

1

9
AB = 3 CD

275. Corresponding
sides of two triangles are in the ratio 
 . If

the
area of the smaller triangle is 
 , determine
the area of

the larger triangle.

Watch Video Solution

2  : 3

48 cm2

276. The areas
of two similar triangles are 
and 
 . If

the
length of a side of the smaller triangle in 3 cm, find the length

of the
corresponding side of the larger triangle.

Watch Video Solution

36 cm2 100 cm2

https://dl.doubtnut.com/l/_IbIO2cl4wmDY
https://dl.doubtnut.com/l/_2ISkAGsEaunD
https://dl.doubtnut.com/l/_YLrObbEuXQd1


Watch Video Solution

277. Corresponding
sides of two similar triangles are in the ratio


. If the
area of the smaller triangle in 
, find the
area of

the larger triangle.

Watch Video Solution

1: 3 40 cm2

278. In 
 , 
 and 
 are
 altitudes. Prove that 

Watch Video Solution

ABC AD BE

=
ar(DEC)

ar(ABC)

DC 2

AC 2

279. The
diagonals of quadrilateral 
 intersect
at 
 . Prove

that


Watch Video Solution

ABCD O

=
ar(ACB)

ar(ACD)

BO

DO

https://dl.doubtnut.com/l/_YLrObbEuXQd1
https://dl.doubtnut.com/l/_PhFJXMWt77P2
https://dl.doubtnut.com/l/_Gr3i4eX46O2i
https://dl.doubtnut.com/l/_8XfsC1NyCZhp


280. In Figure, each of 
and 
is
perpendicular to 


 . If 
 , 
 , 
 and 
 ,

then
determine 
and 
.

Watch Video Solution

PA,  QB,  RC SD

l AB = 6cm BC = 9cm CD = 12cm PS = 36cm

PQ,  QR RS

281. In 
 , ray 
 bisects 
 and
 intersects 
 in 
 . If 


, 
and 
, prove
that
 
(ii) D C

= 

Watch Video Solution

ABC AD ∠A BC D

BC = a AC = b AB = c BD =
ac

b + c
ab

b + c

282. In each of
the figures given below, an altitude is drawn to the

hypotenuse by a
 right-angled triangle. The length of different

https://dl.doubtnut.com/l/_8XfsC1NyCZhp
https://dl.doubtnut.com/l/_U0BCQBPbGxrl
https://dl.doubtnut.com/l/_JKvlVFoyZYgk
https://dl.doubtnut.com/l/_1i6S4Z2E7LhA


line-segments are marked in
 each figure. Determine 
 in

each
case.

Watch Video Solution

x,  y,  z

283. There is a
staircase as shown in Figure, connecting points 

and 
.
 Measurements of steps are marked in the figure. Find the

straight line
distance between 
and 
.

Watch Video Solution

A

B

A B

284. In 
. Prove
that `B C^2=A B^2+A C^2-A B.A C

.

Watch Video Solution

ABC,   ∠A = 60o

https://dl.doubtnut.com/l/_1i6S4Z2E7LhA
https://dl.doubtnut.com/l/_3zSp637neAyq
https://dl.doubtnut.com/l/_PlnbJq4Md0JR


285. In 
 , 
 is an
 obtuse angle. 
 and 


Prove that 
.

Watch Video Solution

ABC ∠C AD ⊥ BC

AB2 = AC 2 + 3 BC 2. BC = CD

286. A point 
 is on the
side 
of an
equilateral triangle 

such that 
. Prove
that 
.

Watch Video Solution

D BC ABC

DC =  BC
1

4
AD2 = 13 CD2

287. In 
 , if 
 and 
 , then
 prove

that 
.

Watch Video Solution

ABC BD ⊥ AC BC 2 = 2 ACCD

AB = AC

https://dl.doubtnut.com/l/_DyCzX1RFW7UM
https://dl.doubtnut.com/l/_SDNCGAcg6CFm
https://dl.doubtnut.com/l/_FcRYDlN2CemD


288. In a
 quadrilateral 
 , given
 that 
 .

Prove
that 
.

Watch Video Solution

ABCD ∠A + ∠D = 90o

AC 2 + BD2 = AD2 + BC 2

289. In 
 , given
 that 
 and 
 . Prove

that 

Watch Video Solution

△ ABC AB = AC BD ⊥ AC

BC 2 = 2 AC ⋅ CD

290. 
is a
rectangle. Points 
and 
are on 
such that 


 and 
 . Prove
 that 


.

Watch Video Solution

ABCD M N BD

AM ⊥ BD CN ⊥ BD

BM 2 + BN 2 = DM 2 + DN 2

https://dl.doubtnut.com/l/_6d8bGCPJL1Wk
https://dl.doubtnut.com/l/_SsapMi0TC9zE
https://dl.doubtnut.com/l/_CeoqKTivsfl8
https://dl.doubtnut.com/l/_O8VgOlfHw9nv


291. In 
 , 
 is a
 median. Prove that 


.

Watch Video Solution

ABC AD

AB2 + AC 2 = 2 AD2 + 2 DC 2

292. In an equilateral triangle, prove that three times the square

of one side is equal to four times the square of one of its

altitudes.

Watch Video Solution

293. In a 
 , 
 . Prove
 that 

Watch Video Solution

ABC ∠ABC = 135o

AC 2 = AB2 + BC 2 + 4 ar(ABC)

https://dl.doubtnut.com/l/_O8VgOlfHw9nv
https://dl.doubtnut.com/l/_3NUdGJGxJqWl
https://dl.doubtnut.com/l/_226O1QLd42PU


294. In a
 quadrilateral 
 . If 


then prove
that 
.

Watch Video Solution

ABCD,   ∠B = 90o

AD2 = AB2 + BC 2 + CD2 ∠ACD = 90o

295. In a
triangle 
, 
is a point
on 
such that 

. If 
, prove
that 
.

Watch Video Solution

ABC N AC BN ⊥ AC

BN 2 = ANNC ∠B = 90o

296. Nazinia
 is fly fishing in a stream. The tip of her fishing rod is

1.8 m above the
surface of the water and the fly at the end of the

string rests on the water
 3.6 m away and 2.4 m from a point

directly under the tip of the rod. Assuming
that h

Watch Video Solution

https://dl.doubtnut.com/l/_6lmdWWMcDLTj
https://dl.doubtnut.com/l/_R6pjNozTszBN
https://dl.doubtnut.com/l/_Kw7JaPbFd0oM


297. State basic
proportionality theorem and its converse.

Watch Video Solution

298. In the
adjoining figure, find 
. (FIGURE)

Watch Video Solution

AC

299. In the
adjoining figure, if 
is the
bisector of  if BD=4cm

,DC=3cm and AB=6cm
, what is 
?

Watch Video Solution

AD ∠A

AC

300. State AA
similarity
criterion.

Watch Video Solution

https://dl.doubtnut.com/l/_x0xPIhV5xAJp
https://dl.doubtnut.com/l/_TmfdUYljjoLm
https://dl.doubtnut.com/l/_djsq0IMcpYfr
https://dl.doubtnut.com/l/_YfNflGGVq6VP


301. State 
similarity
criterion.

Watch Video Solution

SSS

302. State 
similarity
criterion.

Watch Video Solution

SAS

303. In the adjoining figure,  is parallel to  and 

, . What is the ratio of the area of  to the

area of ?

Watch Video Solution

DE BC AD = 1cm

BD = 2cm △ ABC

△ ADE

https://dl.doubtnut.com/l/_YfNflGGVq6VP
https://dl.doubtnut.com/l/_2Eu5ZshMbKGH
https://dl.doubtnut.com/l/_J6P3YTEbzLy8
https://dl.doubtnut.com/l/_E3DvW9OOcyEd


304. In the
 figure given below 
 . If 
 , 


and 
, Find 
.

Watch Video Solution

DE ∣ ∣ BC AD = 2. 4cm

DB = 3. 6cm AC = 5cm AE

305. If the
 areas of two similar triangles 
 and 
 are in

the
ratio 
and 
, what is
the length of 
?

Watch Video Solution

ABC PQR

9: 16 BC = 4. 5cm QR

306. The areas
 of two similar triangles are 
 and 

respectively.
 If the longest side of the larger triangle is 26cm,

what is the length of the
longest side of the smaller triangle?

Watch Video Solution

169 cm2 121 cm2

https://dl.doubtnut.com/l/_CChlhgOBsHD5
https://dl.doubtnut.com/l/_xmbSdHSE8oDJ
https://dl.doubtnut.com/l/_6n6vKrsAKUgi
https://dl.doubtnut.com/l/_vcjuf7bVlfO4


307. If 
 and 
 are similar
 triangles such that 


and 
, what is
the measure of 
?

Watch Video Solution

△ ABC △ DEF

∠A = 570 ∠E = 730 ∠C

308. If the
 altitude of two similar triangles are in the ratio 
 ,

what is
the ratio of their areas?

Watch Video Solution

2: 3

309. If 
 and 
 are two
 triangles such that 


 , then
 write Area 


.

Watch Video Solution

ABC DEF

= = =
AB

DE

BC

EF

CA

FD

3

4

(ABC) :Area(DEF )

https://dl.doubtnut.com/l/_vcjuf7bVlfO4
https://dl.doubtnut.com/l/_Mr3CJ1HQdCAo
https://dl.doubtnut.com/l/_u5Ki8tnzNoRU


310. If 
 and 
 are similar
 triangles such that 


, 
 
and 
, find the

perimeter of 
.

Watch Video Solution

△ ABC △ DEF

AB = 3cm BC = 2cm CA = 2. 5cm EF = 4cm

DEF

311. State
Pythagoras theorem and its converse.

Watch Video Solution

312. The lengths
 of the diagonals of a rhombus are 30cm and

40cm. Find the side of the
rhombus.

Watch Video Solution

https://dl.doubtnut.com/l/_RVYpm3byT1c9
https://dl.doubtnut.com/l/_JKo8J24L6zlq
https://dl.doubtnut.com/l/_4zlIqRzW4JrJ


313. In Figure, 
 and 
 . Find 


.

Watch Video Solution

PQ ∣ ∣ BC AP :PB = 1: 2

area(APQ)

area(ABC)

314. In Fig.
 4.237, 
 . Express 
 in terms of


and 
 where 
 are lengths
 of 
 and 

respectively.
 (FIGURE)

Watch Video Solution

LM = LN = 46o x a,  b

c a,  b,  c LM,  MN NK

315. In Figure, 
 and 
 are points
 on the sides 
 and 

respectively
of 
 such that 
 , 
 and 


is parallel
to 
. Find the
ratio of the areas of 
and 


.

Watch Video Solution

S T PQ PR

△ PQR PT = 2cm TR = 4cm

ST QR △ PST

△ PQR

https://dl.doubtnut.com/l/_6heI6n77GpGd
https://dl.doubtnut.com/l/_9jJqY4rKxAYL
https://dl.doubtnut.com/l/_6xyImjw2Y3Fg


Watch Video Solution

316. In Figure, 
 is similar
 to 
 . If 
 , 


and 
, find 
.

Watch Video Solution

△ AHK △ ABC AK = 10cm

BC = 3. 5cm HK = 7cm AC

317. In Figure, 
 in 
 such that 
 , 


and 
. Find 
.

Watch Video Solution

DE ∣ ∣ BC △ ABC BC = 8cm

AB = 6cm DA = 1. 5cm DE

318. In Fig.
4.241, 
and 
. If 
, find


.
(FIGURE)

Watch Video Solution

DEBC AD = BD
1
2

BC = 4. 5cm

DE

https://dl.doubtnut.com/l/_6xyImjw2Y3Fg
https://dl.doubtnut.com/l/_elpmAcnd6Knr
https://dl.doubtnut.com/l/_iOs0W3GjklM5
https://dl.doubtnut.com/l/_5Uzbq1iGvN6e
https://dl.doubtnut.com/l/_rUxhxkgFFUdP


319. A vertical
 stick 20 m long casts a shadow 10m long on the

ground. At the same time, a
 tower casts a shadow 50m long on

the ground. The height of the tower is
(a)
100m      (b) 120m      (c)

25m      (d) 200m

Watch Video Solution

320. Sides of
 two similar triangles are in the ratio 
 . Areas of

these triangles are in the ratio.
 
(b) 
(c) 
(d) 

Watch Video Solution

4: 9

2: 3 4: 9 81: 16 16: 81

321. The areas
 of two similar triangles are 
 and 

respectively
. The ratio
of their corresponding sides is

A. (a)

9 cm2 16 cm2

3: 4

https://dl.doubtnut.com/l/_rUxhxkgFFUdP
https://dl.doubtnut.com/l/_zIUwJwiwtlX8
https://dl.doubtnut.com/l/_YKR69YHO086z


B. (b) 

C. (c) 

D. (d) 

Answer: null

Watch Video Solution

4: 3

2: 3

4: 5

322. The areas
 of two similar triangles 
 and 
 are 


 and 
 respectively.
 If the longest side of triangle 


be 36 cm,
then the longest side of the triangle 
is

A. (a)
20cm

B. (b) 26cm

C. (c) 27cm

D. (d) 30cm

ABC DEF

144 cm2 81 cm2

ABC DEF

https://dl.doubtnut.com/l/_YKR69YHO086z
https://dl.doubtnut.com/l/_za4WCHR5vvcI


Answer: null

Watch Video Solution

323. 
and 
are two
equilateral triangles such that 
 is

the
mid-point of 
. The ratio
of the areas of the triangles 

and 
is
 
(b) 
(c) 
(d) 

Watch Video Solution

ABC BDE D

BC ABC

BDE 2: 1 1: 2 4: 1 1: 4

324. Two
isosceles triangles have equal angles and their areas are

in the ratio 
 . The ratio
 of their corresponding heights is



(b) 
(c) 
(d) 

Watch Video Solution

16: 25

4: 5 5: 4 3: 2 5: 7

https://dl.doubtnut.com/l/_za4WCHR5vvcI
https://dl.doubtnut.com/l/_Ze6yHyW7pEqQ
https://dl.doubtnut.com/l/_nFtYgExib689


325. If 
 and 
 are similar triangles
 such that 


and 
, then 

A. (a)
16cm

B. (b) 12cm

C. (c) 8cm

D. (d) 4cm

Answer: null

Watch Video Solution

ABC DEF

2 AB = DE BC = 8cm EF =

326. If 
 and 
 are two
 triangles such that 


, then 

A. (a) 

ABC DEF

= = =
AB

DE

BC

EF

CA

FD

2

5
Area(ABC) :Area(DEF ) =

2: 5

https://dl.doubtnut.com/l/_UMgMoecr8PZw
https://dl.doubtnut.com/l/_lRLU48vOa2aZ


B. (b) 

C. (c) 

D. (d) 

Answer: null

Watch Video Solution

4: 25

4: 15

8: 125

327. Triangle 
 is such
 that 
 , 
 and 


 . If  
 and 
 , then

perimeter of 
is

A. (a) 

B. (b) 

C. (c) 

D. (d) 

ABC AB = 3cm BC = 2cm

CA = 2. 5cm DEF similarABC EF = 4cm

DEF

7.5cm

15cm

22.5cm

30cm

https://dl.doubtnut.com/l/_lRLU48vOa2aZ
https://dl.doubtnut.com/l/_iuYH7JsL1fBj


Answer: null

Watch Video Solution

328. 
is drawn
parallel to the base 
of 
cutting 

at 
and 
at 
. If 
and 
, then 

(a) 
(b) 
(c) 
(d) 

Watch Video Solution

XY BC ΔABC AB

X AC Y AB = 4 BX YC = 2cm AY =

2cm 4cm 6cm 8cm

329. Two poles
of height 6m and 11m stand vertically upright on a

plane ground. If the
 distance between their foot is 12m, the

distance between their tops is
(a)
12m         (b) 14m        (c) 13m    

(d) 11m

Watch Video Solution

https://dl.doubtnut.com/l/_iuYH7JsL1fBj
https://dl.doubtnut.com/l/_aePvOShATXMr
https://dl.doubtnut.com/l/_w4QadwLQR7lZ
https://dl.doubtnut.com/l/_v8FzKB9OI5Lv


330. In 
, a line 
parallel to
 
cuts 
at 
and 
at 


 . If 
 bisects 
 , then
 (a) 
 (b) 
 (c)


(d) 

Watch Video Solution

ABC XY BC AB X AC

Y BY ∠XYC BC = CY BC = BY

BC ≠ CY BC ≠ BY

331. In 
 , 
 and 
 are points
 on side 
 and 

respectively
such that  is parallel to 
& 
. If


, then 
mmmmmmmm
(a)  (b) 
 (c)


(d) 

Watch Video Solution

ΔABC D E AB AC

DE BC AD :DB = 3: 1

EA = 3. 3cm AC = 1. 1cm 4cm

4. 4cm 5. 5cm

332. In
 triangles 
 and 
 , 
 , 


and 
 , then 
 





ABC DEF ∠A = ∠E = 400

AB :ED = AC :EF ∠F = 650 ∠B = (a)350 (b)650

(c)750 (d)850

https://dl.doubtnut.com/l/_v8FzKB9OI5Lv
https://dl.doubtnut.com/l/_SWNlAS6z4DPX
https://dl.doubtnut.com/l/_WrIIsn1rIWoU


Watch Video Solution

333. If 
 and 
 are similar
 triangles such that 


and 
 , then 
 (a) 
 (b) 
 (c) 
 (d) 

Watch Video Solution

△ ABC △ DEF

∠A = 470 ∠E = 830 ∠C = 500 600 700

800

334. If 
and 
are the
mid-points of the sides of a 
 ,

the ratio
of the areas of the triangles 
and 
is .......

Watch Video Solution

D,  E F △ ABC

DEF ABC

335. In a 
 , 
 , 
 and 
 . If 


 , then 
 
 (b) 
 (c) 
 (d) 

ABC ∠A = 90o AB = 5cm AC = 12cm

AD ⊥ BC AD = (a) cm
13

2
cm

60

13
cm

13

60

https://dl.doubtnut.com/l/_WrIIsn1rIWoU
https://dl.doubtnut.com/l/_lX9FryIjqKpC
https://dl.doubtnut.com/l/_QD7WMudQWaTQ
https://dl.doubtnut.com/l/_PWfkaL4XagjM


Watch Video Solution

cm
2√15

3

336. In an
 equilateral triangle 
 if 
 , then (a) 


 (b) 
 (c)  (d) 

Watch Video Solution

ABC, AD ⊥ BC

2 AB2 = 3 AD2 4 AB2 = 3 AD2 3 AB2 = 4 AD2

3 AB2 = 2 AD2

337. If 
is an
equilateral triangle such that 
 , then 


 
(b) 
(c) 
(d) 

Watch Video Solution

ABC AD ⊥ BC

AD2 = (a) DC 23

2
2 DC 2 3 CD2 4 DC 2

https://dl.doubtnut.com/l/_PWfkaL4XagjM
https://dl.doubtnut.com/l/_Wbk5NaHZvDcK
https://dl.doubtnut.com/l/_01xR6qTHKNHU


338. In a 
 ,
 perpendicular 
 from 
 on 
 meets 
 at 


 . If 
 , 
 and 
 , then
 
 is

isosceles (b) 
 is
 equilateral
 (c) 
 (d) 
 is

right-angled at 
.

Watch Video Solution

ABC AD A BC BC

D BD = 8cm DC = 2cm AD = 4cm ABC

ABC AC = 2 AB ABC

A

339. In a 
 , point 
 is on side 
 and point 
 is on side 


 , such that
 
 is a
 trapezium. If 
 , then

Area

Watch Video Solution

ΔABC D AB E

AC BCED DE :BC = 3: 5

(ADE) :Area(BCED) =

340. In a 
 , 
 is the
 bisector of 
 . If 
 , 


and 
, then 
 
 (b) 
 (c) 


(d) None of
these

ABC AD ∠BAC AB = 6cm

AC = 5cm BD = 3cm DC = 11. 3cm 2. 5cm

3: 5cm

https://dl.doubtnut.com/l/_pQVsBK65ypku
https://dl.doubtnut.com/l/_LcmLyYSep7lp
https://dl.doubtnut.com/l/_771m8fMnyJ5O


Watch Video Solution

341. In a 
 , 
 is the
 bisector of 
 . If 
 , 


 and 
 . Find 
 
 (b) 
 (c) 
 (d) 

Watch Video Solution

ABC AD ∠BAC AB = 8cm

BD = 6cm DC = 3cm AC 4cm 6cm 3cm

8cm

342. 
 is a
 trapezium such that 
 and 


 . If the
 diagonals 
 and 
 intersect
 at 
 such

that 
, then 
(a) 
(b) 
(c) 
(d)

Watch Video Solution

ABCD BC ∣ ∣ AD

AD = 4cm AC BD O

= =
AO

OC

DO

OB

1

2
BC = 7cm 8cm 9cm

6cm

https://dl.doubtnut.com/l/_771m8fMnyJ5O
https://dl.doubtnut.com/l/_pAULKizYgnRk
https://dl.doubtnut.com/l/_4DF54QhZf6V3


343. If 
is an
isosceles triangle and 
is a point
on 
such

that  then,

Watch Video Solution

ABC D BC

AD ⊥ BC

344. 
 is a right
 triangle right-angled at 
 and 
 .

Then, 
mm
(a) 
(b) 
(c) 
(d) 

Watch Video Solution

ABC A AD ⊥ BC

=
BD

DC
( )

2
AB

AC

AB

AC
( )

2
AB

AD

AB

AD

345. If 
 is a point
 on side 
 of an
 equilateral triangle 

such that 
 , then 
 
 (b) 


(c) 
(d) 

Watch Video Solution

E CA ABC

BE ⊥ CA AB2 + BC 2 + CA2 = 2 BE2

3 BE2 4 BE2 6 BE2

https://dl.doubtnut.com/l/_xmeUr7sXLWfe
https://dl.doubtnut.com/l/_EsLVeoUWTlSJ
https://dl.doubtnut.com/l/_vXlQDps3ebjQ
https://dl.doubtnut.com/l/_w6P4mxS1Zd48


346. If in 
and 
, 
 , then 
when


(b) 
(c) 
(d) 

Watch Video Solution

ABC DEF =
AB

DE

BC

FD
ABC~DEF

∠A = ∠F ∠A = ∠D ∠B = ∠D ∠B = ∠E

347. If in two
 triangles 
 and 
 , 
 ,

then
 
(b) 
(c) 
(d) 

Watch Video Solution

ABC DEF = =
AB

DE

BC

FE

CA

FD

FDECAB FDEABC CBAFDE BCAFDE

348. 
 , 
 , 
 . If 


 , then the
 measure of 
 is
 
 (b) 
 (c) 


(d) 

Watch Video Solution

ABCDEF ar(ABC) = 9cm2 ar(DEF ) = 16cm2

BC = 2. 1cm EF 2. 8cm 4. 2cm

2. 5cm 4. 1cm

https://dl.doubtnut.com/l/_w6P4mxS1Zd48
https://dl.doubtnut.com/l/_ygQWiEVEQEy2
https://dl.doubtnut.com/l/_gj8oN8Sv8Lry


349. The length
 of the hypotenuse of an isosceles right triangle

whose one side is 
 cm is
 
 (b) 
 (c) 
 (d)

Watch Video Solution

4√2 12cm 8cm 8√2cm

12√2cm

350. A man goes
24m due west and then 7m due north. How far is

he from the starting point?
(a)
31m         (b) 17m      (c) 25m      (d)

26m

Watch Video Solution

351. If 
 such that 
 , 
 and 


, then 

Watch Video Solution

ΔABC~ΔDEF BC = 3cm EF = 4cm

ar(ABC) = 54cm2 ar(DEF ) =

https://dl.doubtnut.com/l/_F14BZvGuyDz8
https://dl.doubtnut.com/l/_GcQTi7h0SvWh
https://dl.doubtnut.com/l/_YZr4sZAIGiwb


352. If 
 such that 
 If 


, then 

Watch Video Solution

ΔABC~ΔPQR ar(ABC) = 4ar(PQR).

BC = 12cm QR =

353. The areas
 of two similar triangles are 
 and 

respectively.
 If the median of the first triangle is 
 , then

the
 corresponding median of the other triangle is
 (a)
 11cm (b)

8.8cm (c) 11.1cm (d) 8.1cm

Watch Video Solution

121 cm2 64 cm2

12. 1 cm

354. If 
 such that 
 , 
 , 


 , 
 , then
 perimeter of 
 is
 (a)
 18cm

(b) 20cm (c) 12cm (d) 15cm

Watch Video Solution

ABCDEF DE = 3cm EF = 2cm

DF = 2. 5cm BC = 4cm ABC

https://dl.doubtnut.com/l/_ajlb2Gmsu6eo
https://dl.doubtnut.com/l/_xiTZc4a5Z2L9
https://dl.doubtnut.com/l/_r9uDbM8Y2bSl


355. In an
equilateral triangle 
if 
, then

Watch Video Solution

ABC AD ⊥ BC

356. If 
such that 
and 
 . If

the
perimeter of 
is 25cm,
 then the perimeter of 
 is
 (a)

36cm (b) 30cm (c) 34cm (d) 35cm

Watch Video Solution

ABCDEF AB = 9. 1cm DE = 6. 5cm

DEF ABC

357. In an
 isosceles triangle 
 if 
 and 


, then 
 
(b) 
(c) 
(d) 

Watch Video Solution

ABC AC = BC

AB2 = 2AC 2 ∠C = 30o 45o 90o 60o

https://dl.doubtnut.com/l/_r9uDbM8Y2bSl
https://dl.doubtnut.com/l/_J8HGs7AvIFgx
https://dl.doubtnut.com/l/_5M2C0mWLtgXK
https://dl.doubtnut.com/l/_kcuvScxIfBkq
https://dl.doubtnut.com/l/_ykgHdXd34tDl


358. 
 is an
 isosceles triangle in which 
 . If 


, then 
 
(b) 
(c) 
(d) 

Watch Video Solution

ABC ∠C = 90o

AC = 6cm AB = 6√2cm 6cm 2√6cm 4√2cm

359. If in two
triangles 
and 
, 
,

then
 which of the following is not true?
 
 (b) 


(c) 
(d) 

Watch Video Solution

ABC DEF ∠A = ∠E,   ∠B = ∠F

=
BC

DF

AC

DE

=
AB

DE

BC

DF
=

AB

EF

AC

DE
=

BC

DF

AB

EF

360. In an
 isosceles triangle 
 , if 
 and 


 , then the
measure of altitude from 
on 
 is
 (a)

20cm (b) 22cm (c) 18cm (d) 24cm

Watch Video Solution

ABC AB = AC = 25cm

BC = 14cm A BC

https://dl.doubtnut.com/l/_ykgHdXd34tDl
https://dl.doubtnut.com/l/_7MVn7niHA8UF
https://dl.doubtnut.com/l/_z1p8lgeKMANv


361. In Fig.
 4.242 the measures of 
 and 
 are
 respectively

(FIGURE)
 
(b) 
(c) 
(d) 

Watch Video Solution

∠D ∠F

50,  40 20,  30 40,  50 30,  20

362. In Figure, the value of 
for which 
(a) 4 (b) 1 (c) 3

(d) 2

Watch Video Solution

x DE ∣ ∣ AB

363. In Fig.
 4.244, if 
 then 
 (FIGURE)
 (a)

2 (b) 5 (c) 
(d) 3

Watch Video Solution

∠ADE = ∠ABC, CE =

9/2

https://dl.doubtnut.com/l/_I4SgnJ1KuRui
https://dl.doubtnut.com/l/_RCfOWCkHQaqU
https://dl.doubtnut.com/l/_algcfGM5ncnA


364. In Fig.
 4.245, 
 . If 
 and 


 . Then the
 values of 
 and 
 are
 respectively

(FIGURE)
 
(b) 
(c) 
(d) 

Watch Video Solution

RSDBPQ CP = PD = 11cm

DR = RA = 3cm x y

12,  10 14,  6 10,  7 16,  8

365. In Fig.
 4.246, if 
 and 
 , then 
 (FIGURE)



(b) 
(c) 
(d) 

Watch Video Solution

PBCF DPEF =
AD

DE
3

4

1

3

1

4

2

3

366. A chord of
 a circle of radius 10cm subtends a right angle at

the centre. The length of
the chord (in cm) is

A. (a) 

B. (b) 

5√2

10√2

https://dl.doubtnut.com/l/_XyvqT8gXzw97
https://dl.doubtnut.com/l/_okj10TXIHzvO
https://dl.doubtnut.com/l/_aNnsOTjs1uqA


C. (c) 

D. (d) 

Answer: null

Watch Video Solution

5

√2

10√3

https://dl.doubtnut.com/l/_aNnsOTjs1uqA

